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Question Number : 1 Question Id : 7773932705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the term that will come next in the following series.

CFI1, DJK, ENM, FRO, ?
Options :
1. ¥ GVQ
2. % RUE
3. % 0QT
4. % OST

Question Number : 1 Question Id : 7773932705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I U D1 98 BX, Sl HaferRad gaern & spvar e

CF1, DJK, ENM, FRO, ?
Options :
1. ¥ GVQ
2. % RUE
3. % 0QT
4. % OST

Question Number : 2 Question Id : 7773932706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the term that will come next in the following series.

BDF, CFI, DHL, ?
Options :
1. ¥ EJO
2. % CIM
3. % EML
4. % EMI

Question Number : 2 Question Id : 7773932706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I UG &1 9G4 BY, Sl FaferiRad g & save s

BDF, CFI, DHL, ?
Options :
1. ¥ EJO
2. % CIM
3. % EML



4. = EMI

Question Number : 3 Question Id : 7773932707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the term that will come next in the following series.

C E LK, 0,Q,?
Options :

1. * R

2.%8S

3. T

4. ¥ U

Question Number : 3 Question Id : 7773932707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I UG &1 99 Dy, Sl FREfeiRad gaer o ST S|

CELKO,Q,?
Options :

1. * R

2.% S

3. T

4. ¥ U

Question Number : 4 Question Id : 7773932708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following series.

ZA, UF, QJ, MM, LO
Options :



1. ¥ MM
2. % UF
3. % QJ
4.% 10

Question Number : 4 Question Id : 7773932708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad saan ¥ Tad ug I1d Sifor

ZA, UF, QJ, MM, LO
Options :

1. ¥ MM

2. % UF

3. % QJ

4. % LO

Question Number : 5 Question Id : 7773932709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

World War II: United Nations : : World War I : ?
Options :

1. # Treaty of Versailes

2. # International Commission of Justice

3. ¥ League of Nations

4. % International court of Justice

Question Number : 5 Question Id : 7773932709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 fadh ey T 99 B 1 iR UG 9 I41 ae ¥ Tfid & fo UoR g¥R1 U Ugd Ug I Iwifed g |
fa fay g Ogaa Iy A Ay g5 -2

Options :

1. % e BI HfY
2. % RIS 1T AN
3. ¥ AP TG

4, % RIS YT

Question Number : 6 Question Id : 7773932710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

BEF : GJK : : LOP : ?
Options :
1. ¥ QUV
2.% QTU
3. % QST
4. % QUT

Question Number : 6 Question Id : 7773932710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot gy o, fdu 7 fawedl & @ i siarl &1 997 &< |
BEF : GJK :: LOP :?

Options :

1. % QUV

2.¥ QTU

3. % QST

4. % QUT



Question Number : 7 Question Id : 7773932711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related number from the given alternatives.

APPLE : 50 : : ORANGE : ?
Options :

1. * 61

2. % 63

3. ¥ 60

4. % 69

Question Number : 7 Question Id : 7773932711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T TQ fashedl H & Heifdd ST o1 I BX |
APPLE : 50 : : ORANGE : ?

Options :

1. # 61

2. % 63

3.9 60

4. % 69

Question Number : 8 Question Id : 7773932712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter/letters from the given alternatives.

ACE : KMO : : BDF : ?
Options :
1. * LNO



2. ¥ MPO
3. ¢ LNP
4. % NPQ

Question Number : 8 Question Id : 7773932712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad oy & fou T fawedl & O Tefid sier/siert &1 gu|

ACE : KMO : : BDF : ?
Options :
1. # LNO
2. % MPO
3. ¥ LNP
4. % NPQ

Question Number : 9 Question Id : 7773932713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If CUBE is coded as 11903 and LIGHT is coded as 1075618, then how will ROCKET be coded as?
Options :

1. % 162193118

2. % 161219318

3. 161319318

4. % 162112293

Question Number : 9 Question Id : 7773932713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%TCHUBEﬁ 11903 &% ¥4 H Hfed fa1 STa1 § 3R LIGHT &1 1075618 & U | SHicd a1 oITdT 8, df ROCKET &I &4 Bfcd fbar

Options :




1. * 162193118
2. % 161219318
3. ¥ 161319318
4. % 162112293

Question Number : 10 Question Id : 7773932714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “ADVICE” is coded as “ZBCEUWHIJBDDF” in a certain language, then how will “EXTRACT” be coded in the same language?
Options :

1. ¥ DFWYSUQSZBBDSU

2. % DFYWUSQSZBBDSU

3. ¥ DFWYUSSQZBBDSU

4. ¥ DFWYSUQSBZBDSU

Question Number : 10 Question Id : 7773932714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt FfSrd ®fed U H, “ADVICE” &1 “ZBCEUWHIBDDF” & &0 H fora oiTdT &, dl ST ®fed NI H, “EXTRACT” &1 fohd TR feran
fTdIT?

Options :

1. ¥ DFWYSUQSZBBDSU

2. ¥ DFYWUSQSZBBDSU

3. ¥ DFWYUSSQZBBDSU

4. ¥ DFWYSUQSBZBDSU

Question Number : 11 Question Id : 7773932715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘haq wan tum’ means ‘we are nice’: ‘wan mein jaon’ means ‘nice and beautiful’ and ‘jaon tum ke’ means ‘you are beautiful’: then which word
in the language means ‘you’?

Options :



1. * jaon
2. % tum
3.9 ke

4. ¥ mein

Question Number : 11 Question Id : 7773932715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg ‘haq wan tum’ T 31 “we are nice' %: ‘wan mein jaon’ ] 31 “nice and beautiful’ % 3R ‘jaon tum ke’ I 3 ‘you are beautiful’ %z ar d
U7 H {5y et b1 3‘[&% ‘you’?

Options :

1. #* jaon

2. % tum

3. % ke

4. ¥ mein

Question Number : 12 Question Id : 7773932716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘study’ means ‘play’, ‘play’ means ‘watch TV’, ‘watch TV’ means ‘cycling’ and ‘cycling’ means ‘study’ in a certain language, then what as
per this language does one do to score well in exams?

Options :

1. # Study

2. ¥ Play

3. % Cycling
4. % Watch TV

Question Number : 12 Question Id : 7773932716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe; ueb P Hron 7 reae b o © g, et 1 31 g Nl S, A G b1 31 & WIsfebet TAMT 3R rsgfebet = b1 31
LY B, A 3 HIN & SFER BIg 1 fremedf udan & ares1 TR 3 & forg o e g2




Options :

1. % Y

2.¥ Wd

3. % rsfobd I
4, % Stdt &g

Question Number : 13 Question Id : 7773932717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six trains — T1, T2, T3, T4, TS5 and T6 are to leave the station one after the other not necessarily in the same order. T6 leaves immediately before
t2 and immediately after T4 and T6 is not the fourth train to leave the station. Exactly one train leaves before T5. Neither T1 nor T3 is the last
train to leave the station.

Which is the first train to leave the station?
Options :

1. % T1

2. % T3

3. % T4

4. ¥ Either T1 or T3

Question Number : 13 Question Id : 7773932717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BE - T1, T2, T3, T4, T5 3R T6 TE THI-ITHT HY IR T WH I Fopad! 8, Ses! 181 fb s v H 8l
T6, T2 & 31% USQ 3R T4 & 31 a1 H el §, T6 WIH J e arel drft ¢ 781 8 | had Ueh o T5 ¥ Ugd At 81 a1 Tl
3R T8 T3 WIH ¥ e arelt sifan ¢ 81

RIA § FHaq arelt ugal o S I /2
Options :

1. % T1

2. % T3

3.% T4

4. QI TIATT3




Question Number : 14 Question Id : 7773932718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six boys — P, Q, R, S, T and U sit around a circular table, not necessarily in the same order. R sits opposite T but not adjacent to S. P sits to the
right of S, who is opposite Q. Who sits opposite P?

Options :
1.¥ U
2. %R
3.% S
4. % T

Question Number : 14 Question Id : 7773932718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT AP, Q, R, S, T 3R U TH JAIBGR Tl & IRI 3R 98 &, TN gl 10 3901 A J Gl

R, T & famdid Saar g Afp— s & Mpecara 78I 81 P, S & T8 3R 931 8, SN Q & fAusid g 1p & Audid &9 Sadr g2
Options :

1.¥U

2. % R

3.% S

4 % T

Question Number : 15 Question Id : 7773932719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class test, Ranjan ranked 17 from the top and 45 from bottom among those who passed in class test. There are 5 students who didn’t give the
test and 5 failed in the test. How many students are there in the class?

Options :
1. ® 70
2. % 65
3.¥ 71



4. % 72

Question Number : 15 Question Id : 7773932719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AN X B, I A U g a1l B A SWR ¥ 17 3R 12 F 45 o R4 U fhan| 5 B U9 8 1A ¢ =161 fadn 8iR 5 ¢ & %t g1 74|
Hef U o foba- B 82

Options :

1. * 70

2. % 65

3.9 71

4. % 72

Question Number : 16 Question Id : 7773932720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six children A, B, C, D, E and F were standing in a row height wise. Each child was of different height. A was shorter than only one person.
There were 3 persons shorter than C but taller than E. E was taller than B. D was taller than F. Who was the 3rd tallest person?

Options :
1.¥D
2. % F
3. B
4. % A

Question Number : 16 Question Id : 7773932720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BE T A, B, C, D, E 3R F a3 & IR U Ufad & TS ¥ | TP <l QT Sdls b1 AT A Had U oAiad § Biel Tl 3 dAfad ¢ I
B AfFTET TS A1 E, BY ST UTI D, F A a1 AT | FRIRT G da1 safad i U1

Options :

.¥D

2. % F




3. B
4. % A

Question Number : 17 Question Id : 7773932721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to a man in a photograph a woman says, “He is the maternal grandfather of my only daughter's husband's son”. How is the man related
to that woman?

Options :

1. * Brother
2. * Father
3. % Husband

4. % Son

Question Number : 17 Question Id : 7773932721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g@?ﬁ@mﬁmmmﬁﬂwmm% "qg BRI Sl 9t b Uil &b oe BT A1 8" | I Higel I I8 oY b
9

Options :

1. % Y5

2. % U

3. v Ufd

4. % Uq

Question Number : 18 Question Id : 7773932722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, a statement is followed by two assumptions numbered I and II. An assumption is something supposed or taken for granted.
You have to consider the statement and the following assumptions and decide which of the assumptions is implicit in the statement. Mark answer:

Statement:
"As there is a great demand, every person seeking ticket of the programme will be given only five tickets".



Assumption:

I: The organizers are not keen on selling the tickets.
Assumption

IT: No one is interested in getting more than five tickets.

Options :

1. # If only assumption I is implicit

2. % If only assumption II is implicit

3. ¥ If neither I nor IT assumption is implicit

4. % If both I and IT assumptions are implicit

Question Number : 18 Question Id : 7773932722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UM Uy & uh HYT H ¢ 1 3R 11 P ST SITURUME < 7 & | Plg SR I8 &1 ¢ R a1 Y 71 foram oiran & a1 78ka 811 3muah! i3y
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HY:
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Options :

1. % g bad YR 1 3f: (g ©;

2. % FiE Had AGYRON 11 3 A g

3. ¢ g T a 1 3R A8 11 3ayRon 3 fAfgd §

4. % g1 3R 11 SFF SAYURUMG 3<: g @

Question Number : 19 Question Id : 7773932723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In question below, three statements are given followed by two conclusions numbered I and II. You have to take the given statements to be true



even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements, disregarding the commonly known facts.

Statements:
All new are modern.

Some modern are old.
All old are gold.

Conclusions:
I. Some new are old is a possibility.
II. No modern is gold.

Options :

1. ¥ If only conclusion I follows

2. # If only conclusions II follows

3. % Ifeither conclusion I or II follows
4. # If both conclusion I and II follow

Question Number : 19 Question Id : 7773932723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

42 feu T gy & &9 Sy few e B e a1e &) e 1 3R 11 feT W &1 e fau U SuHl bl I HIHAT 8, Y 8 d I I
I & 1Y faero v 81 it e & U SfR fiiR ag &% o AT 18 woi & § &1 1 feend 3T U i @ arfdhs 0 I SRR
BRI B, JTHII: JTd 9 1 SaeaT Hdl g

HY:

Tt Y ey B
FS MYFAH R
I RE G|

fsem:
[ S U RE 8H S AU |
1. B Wt 3y T 81 ]

Options :

1. ¢ TS Had fshy 1 3R T 8
2. % TfE Hae w11 TR IRAT




3. % gfg a1l feend 1 37 11 3FIFR0 el §
4. % g Frspy 1 SR 11 TFT SIRRUT AR & |

Question Number : 20 Question Id : 7773932724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In each question below, three statements are given followed by two conclusions numbered I and II. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements, disregarding the commonly known facts.

Statements:

All Greeks are Romans.
Some Romans are Tandas.
Some Gangus are Tandas.

Conclusions:
I. Some Romans are Tandas.
II. All Greeks are Gangus.

Options :

1. ¥ If only conclusion I follows

2. % If only conclusions II follows

3. # If either conclusion I or II follows

4. % If both conclusion I and II follow

Question Number : 20 Question Id : 7773932724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu gy # 9 wy= fRu T § e a1 Q) s 18R 11 fRu U § 1 3iueh! faU U =t o) I |9 8, Hd &1 d ITHgd: 1
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fsep:
L $S A TSR
1. g+t A T |

Options :

1. ¢ e Fad FhY 1 3FER0 Bl §
2. % i Had (BT 11 TR0 ST &
3. % g a1l Freemd 1 37 11 3IER0 el §
4. % g F5HY 1 SR 11 QT SFTIR0T R §

General Ability2
Group Number : 2
Group Id : 77739341
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability2
Section Id : 777393114
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes



Sub-Section Number : 1
Sub-Section Id : 777393135
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7773932725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In each question below, three statements are given followed by two conclusions numbered I and II. You have to take the given statements to be

true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements, disregarding the commonly known facts.

Statements:

Some short are tall.
All tall are radius.
All circles are tall.

Conclusions:
I. All circle are radius.
II. No radius is short.

Options :

1. ¥ If only I follows

2. % If only II follows

3. % If either I or II follows

4. # If neither I nor II follows

Question Number : 21 Question Id : 7773932725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I few Uy & &9 sy fau 7 § s a1 < fased 1 3R 11 fRT U § 1 3iuent AT TN Syl bl I AT |, W B d IrHad: 91d
2 & 1Y TR a8 | 9eft Fremeil &1 U iR iR o & o6 AU T ol & 9 i 1 o 3T 71T &= § difches U & SIgeR0T
BT 8, I JTd dl Pt dgd-T Hdl §

DHY:
PO B, A9 T
gyt de, BT |




it g, A g

feem:

. 3t g, = B

1. B1s +ff e, B T R
Options :

1. ¢ S Had 1 SR Hal §

2. % TfE Had 11 3R BT 3

3. % G IT A 131 11 SIXRV HRd &
4. % g1 E 11 3TNV HaT §

Question Number : 22 Question Id : 7773932726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In each question below, two statements are given followed by two conclusions numbered I and II. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements, disregarding the commonly known facts.

Statements:
All the helicopters are carriers.
Some bikes are carriers.

Conclusion:
1. All the helicopters are bikes.
2. Some bikes are helicopters.

Options :

1. #® Only conclusion 1 follows

2. % Both conclusions 1 and 2 follow
3. # Only conclusion 2 follows

4. ¥ Neither conclusion 1 nor 2 follows

Question Number : 22 Question Id : 7773932726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I feu T Uy A < wy= feu U § oM a1 gl fasesd 1 3R 11 fau U § | 3mueh foT 71U =l &) I AT ], Ha &1 d ITHId: J1d )
& 1Y TaeRo v 8 | it et o U SfR fihR ag &% foh AU 71U w1t & @ & a1 feend 3T 70 i § aifches 0 I SIRR0T axal
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DHY:
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1. gt g PIR a2 & |

2. TG 3P DI &

Options :

1. % Had (T5HY | 3IERU BT §

2. % GHI fTs Y 1 3R 2 SRV HRA &

3. % Had FApY 2 3R Hal §

4.« FA e 1 3R A8 2 TRV HRAT”

Question Number : 23 Question Id : 7773932727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the missing number from the given responses.

15,31, ?, 127,255
Options :

1. % 47

2. % 5]

3.9 63

4. % 89

Question Number : 23 Question Id : 7773932727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faQ 7T faemedl O 9 ol S-AT DT 9T DY,




15,31,7?,127, 255
Options :

1. = 47

2. % 51

3.9 63

4. % 89

Question Number : 24 Question Id : 7773932728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question select the related number from the given alternatives.

46:69::52:78::7:?
Options :

1. ¥ 58 :87

2. % 48 .74

3. % 58:86

4. % 60 :80

Question Number : 24 Question Id : 7773932728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e fowmeul # ¥ Gefdrd T &1 g &1 |

Options :

1. ¥ 58 :87
2. % 48 : 74
3. % 58:86
4. % 60 :80

Question Number : 25 Question Id : 7773932729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

[ [

If 'x' means 'addition', -' means 'division', '+' means 'subtraction' and '+' means "'multiplication’, then what will be the value of the expression '20 -
5+14+2-7x5%

Options :

1. %2

2.% 3

3. % 4

4. 95

Question Number : 25 Question Id : 7773932729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g x &1 31 g AN, - 1 3 § AU, + &1 31 § gerT 3R + &1 AAad O §, A 120 - 5 + 14 + 2 - 7 x 5 FoTd BT HIF T N2
Options :

1. %2

2.%3

3. % 4

4.5

Question Number : 26 Question Id : 7773932730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If50 x4 +2=25and 60 x 8 + 10 =75, then in the expression 10 X 1 + A = 50, what is the value of 'A'?
Options :

l.* 4

2.¥5

3.% 2

4. % 25

Question Number : 26 Question Id : 7773932730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

G50 x 4 +2=258 3R 60 x 8+ 10="75 &, Al UG 10x 1 + A =507, 'A' BT I T 82
Options :

1. #® 4

2.¥5

3.%2

4. % 25

Question Number : 27 Question Id : 7773932731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the missing number from the given responses.

714 |26
67|39
867

Options :
1. % 54
2.9 44
3. % 62
4. % 50

Question Number : 27 Question Id : 7773932731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faU U fadm el O § o TRe b1 Ig= -

74|26
67|39
86 |?

Options :
1. % 54



2.9 44
3. % 62
4. % 50

Question Number : 28 Question Id : 7773932732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If each circle represents a class of objects/ideas then find out the answer figure which illustrates the relationship among the following:

‘Vegetables, Orange, Carrot”
Options :

(9o

L0 O O

Question Number : 28 Question Id : 7773932732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e TS gt aXg3M/[TaRI & T aFf Bl G=ITd &, 1 37 a1 A& G aTel SaR TPl T Dy:

oo, T, Mo
Options :

(9o

L0 QO

Question Number : 29 Question Id : 7773932733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, the circle represents Champion, the square represents Players and the triangle represents Men. Study the figure carefully
and answer the given question.



Which of the following letters in the figures represents Men who are neither Players nor Champion?
Options :

1. % g

2.¥ a

3.% f

4. % d

Question Number : 29 Question Id : 7773932733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed sma & ga g o1 ufafftia wxar 8, avf Raanfeat &1 ufaffica war g ok Brys goul &1 ufafafia Hrdr g1 8ma &1
YA 3T B 3R U 7T Uy 7 IR ol |

3 ¥ Fgfafad & § o9 1 31&R 37 738! &1 ufafAfia &ar g S 7 41 faarst § sk 9 € 2fgee
Options :

1. % ¢

2.9 3

3.% f



4, % d

Question Number : 30 Question Id : 7773932734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, the semi-circle stands for Brother, the rectangle stands for Father, the square stands for Uncle and the triangle stands for
Grandfather. Study the figure carefully and answer the given question.

m\ i
a\e\h

i

The letter which represents Brothers, Uncles, Fathers and Grandfathers is:
Options :

1.#b

2.% d

3.% a

4, % ¢

Question Number : 30 Question Id : 7773932734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad sma H, sigad &1 o UTE §, omad o1 o fdn €, avf 1 o1 9 § SR Ao &1 31 31aT 8 1 3TRG 1 -Yde S B
3R RRT MUY HTIW S|

m\ i
a\e\h

i




g8 3R Sl WIS, I, fuar 3R arersit &1 ufafAfa Hrar s -
Options :

1. % b

2. %

3.¥ a

4, % ¢

Question Number : 31 Question Id : 7773932735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagram represents the correct relationship between AC, Mobiles and Laptops?
Options :

Lo O

(0)

2. %
OO
sv O

Question Number : 31 Question Id : 7773932735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

9 & T DT 3G TR HSIIR, HiaTsd 3R AUCIT & g J§Y bl a=ITd1 82

Options :

D

e O

(0)

O O
O

Question Number : 32 Question Id : 7773932736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagram represents the correct relationship between Graduates, Politician and Doctors?
Options :

©




@
(0)

Question Number : 32 Question Id : 7773932736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o O BT SRE I, AT SR STaeR & sid Hay Bl &=l g2

Options :

©

3. ¢




3.

(0)0

Question Number : 33 Question Id : 7773932737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Town B is located north of town A. Town E is located east of B. Town D is located west to A. Town C is located south of D. In which direction is
E located with respect to C ?

Options :

1. # North

2. ¥ North-East
3. % South-West
4. ¥ North- West

Question Number : 33 Question Id : 7773932737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG B, TEX A P IR XM BT 3R FRYT B | TER E, WS B & Td fAxM b1 3R fRIT 81 WS D, R A & U3 fezn &t 3R R 81 2 ¢,
MER D & giemr fo=m & ofR fUd g1 WeR ¢ & day & wer E forw lexn 1 ofik Rya &2

Options :

1. % 3}

2. ¥ IaR-T4

3. % Gfgorufgy
4. % IR-UEH



Question Number : 34 Question Id : 7773932738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series.

Question Figure:

K| K| 2 |

Options :

x
*F
o3
%

Question Number : 34 Question Id : 7773932738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fAafeRad e & g ug 1d Sifg|

Fe= AT

x| |3k |

Options :

ok
i
F

Question Number : 35 Question Id : 7773932739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the term that will come next in the following series.



MK, IF, EA, ?, WQ

Options :
1. % SR
2. % 1LQ
3. % FN
4. ¥ AV

Question Number : 35 Question Id : 7773932739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I UG &1 99 @y, S FRyferiRad gaar o st e |

MK, IF, EA, ?, WQ
Options :
1. # SR
2. % LQ
3. % FN
4. ¥ AV

Question Number : 36 Question Id : 7773932740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following figure series.

Question Figure:
P
T L FI\ 7z
- M
A B C D E




Q
i
Q
2. % -
z
3. % 9
M
4. % -

Question Number : 36 Question Id : 7773932740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 A aan § SFTelt 3 ATl 3dpid &1 9g- Bifok |

g AT
T L L FI\ z
P F M
& M
A B C D E
Options :
Q

£

1. ¥




Q
2. % L2
z
3. % =
M
4. % -

Question Number : 37 Question Id : 7773932741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out from amongst the four alternatives as to how the pattern would appear on the sheet when the sheet is folded at the dotted line and is
punched as given.

Question Figure:

-'l- E
Py i Iy
o H

A 1 ! .

N 1 =

Options :
ll' ' -i
> e <

A




. " .
o

> PId <

L U S

Question Number : 37 Question Id : 7773932741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g‘q’;ﬂqmﬁﬁmﬁﬁg‘uql TR TSI o1 § 3R U U gt & SR =t faran S 8, o i 7 9R fawent & § wiH-91 U vefid
?

g AT

i H e
Vi i -

y
4 i
I E
¥

Options :
ll' ' -i
> e <

1. \U_;/ - -

»p>




Question Number : 38 Question Id : 7773932742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are present in the given figure?

Options :
1. %5
2. % 4
3.6
4. % 7



Question Number : 38 Question Id : 7773932742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&7 o ¥ fobam Y IufRa 82

Options :
1. %5
2.% 4
3.6
4. %7

Question Number : 39 Question Id : 7773932743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, choose the correct mirror image of the figure, from amongst the four alternatives.

Question Figure:




Ly
Wi
L

Question Number : 39 Question Id : 7773932743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad vy A, fou T IRl faeedl § O i & gl gdur ufafss &1 T B3|

TR AT

iy

A N

Options :

i
jos




L
Rk,

Question Number : 40 Question Id : 7773932744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Question Figure:
|_ —
_|

Options :

o,

1. #®

2z) |oF




@

Question Number : 40 Question Id : 7773932744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I ey 1 71 B3 s uy ampfy wfified 8-
T ITHI:
T
B

Options :

o,

) RESHES

4. v




Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 41 Question Id : 7773932745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was the construction of the Rashtrapati Bhawan completed?

General Awarenessl

3
77739342
0

0

No

No

0

20

No

General Awarenessl

777393115
1

Online
Mandatory
20

20

20

Yes

1
777393136
Yes



Options :
1. # 1927
2. % 1928
3.9 1929
4. % 1930

Question Number : 41 Question Id : 7773932745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT HaH T T g 8 gR1 g Ur?
Options :

1. #® 1927

2. % 1928

3.4 1929

4. % 1930

Question Number : 42 Question Id : 7773932746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states is the Matki dance popular?
Options :

1. # Punjab

2. # Tamil Nadu

3. ¥ West Bengal

4. ¥ Madhya Pradesh

Question Number : 42 Question Id : 7773932746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafefad o 9 ford Isa & gewt 9 Ae i g2
Options :

1. % G99




2. % e Arg
3. % i &
4. ¥ AL YT

Question Number : 43 Question Id : 7773932747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the banks of which river is the Bara Imambara located?
Options :

1. ¥ Yamuna

2. % Gomti

3. % Sabarmati

4. % Kaveri

Question Number : 43 Question Id : 7773932747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR ZAHETST fohd Al & dc R R 82
Options :

1% T

2. Tl

3. ® HraTH!

4. % BRI

Question Number : 44 Question Id : 7773932748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a drum instrument?
Options :

1. % Kamanche

2. % Rabab



3. % Kanjira
4. % Ravanhattha

Question Number : 44 Question Id : 7773932748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 oF W e arl 82
Options :

1. % BHd

2. % d[d

3. ¢ BRI

4, % QT

Question Number : 45 Question Id : 7773932749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states is the Bonalu Festival held?
Options :

1. ¥ Telangana

2. % Gujarat

3. ® Maharashtra

4, % Assam

Question Number : 45 Question Id : 7773932749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied & ¥ ford Yo O i1 AgR Siiford foar ST g2
Options :

1. ¢ AT

2. ® ISRId

3. % HeRIY




4. % 3{YH

Question Number : 46 Question Id : 7773932750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years had the UN adopted the UN Guidelines for Consumer Protection?
Options :

1. % 1983

2. % 1984

3.9 1985

4. % 1986

Question Number : 46 Question Id : 7773932750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Y A fbg oy | IuHier R b fore Gger Y & fa=n-Fd=i & sromam
Options :

1. % 1983

2. % 1984

3.9 1985

4. % 1986

Question Number : 47 Question Id : 7773932751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following ministries is responsible for the scheme MGNREGA?
Options :

1. % Ministry of Finance

2. % Ministry of Rural Development

3. % Ministry of Skill Development and Enterprise

4. ® Ministry of Commerce and Industry



Question Number : 47 Question Id : 7773932751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRuferRed & § &9 91 531" T MGNREGA & fore foreR 22
Options :
1. % faq 7A@y
2.« JTHOT fas ™ Jarag
. A o .
3. % DI AP 3R I HATY

4. % IOy 3R IENT HATT

Question Number : 48 Question Id : 7773932752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the I in MICR stand for?
Options :

1. # Indian

2. # Integrated

3. %® Inclusive

4. ¥ Ink

Question Number : 48 Question Id : 7773932752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MICR & 1 %1 quf & 82

Options :

1. * $feg

2. % 3éRICS

3. % SHIRI

4. ¥ 3D

Question Number : 49 Question Id : 7773932753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following activities fall under the tertiary economic sector?
Options :

1. # Dairy

2. % Mining

3. % Money lending to farmers

4. ¥ Forestry

Question Number : 49 Question Id : 7773932753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad o 9 S fafafy gotae onfie aae o ol 82
Options :

1. % Sl

2. % g4

3. ¢ {H M B HghR

4. % gt

Question Number : 50 Question Id : 7773932754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Union Budget 2020, by which year does the Jan Aushadhi Kendra Scheme offer 2000 medicines and 300 surgicals in all
districts?

Options :
1. % 2022
2. %2023
3.9 2024
4. % 2025

Question Number : 50 Question Id : 7773932754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HET FOIC 2020 P TR, T WY &g JIoT o Sfavid fbd a8 ad Guft forat & 2000 TaTE 3R 300 e s Bt UG B ST
Options :

1. % 2022

2. % 2023

3.9 2024

4. % 2025

Question Number : 51 Question Id : 7773932755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many carbon atoms are there in a pyruvate molecule?
Options :

1. % 6

2.%5

3.3

4. % 4

Question Number : 51 Question Id : 7773932755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UTgde U] H fard= dTe TR B1d 87
Options :

1. % 6

2.% 5

3.3

4. % 4

Question Number : 52 Question Id : 7773932756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an alternative or non-conventional source of energy?



Options :

1. ¥ Solar Energy

2. % Thermal Energy
3. # Bio-mass

4. # Nuclear energy

Question Number : 52 Question Id : 7773932756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRad & & ST db I SUdl TR-URURS Sl Ad 62
Options :

1. ¢ TR Sl
2. % ardig Soll
3. % SN
4. % QAT SHoll

Question Number : 53 Question Id : 7773932757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an s-block element?
Options :

1. ¥ Caesium

2. % Boron

3. * Nitrogen

4. % Argon

Question Number : 53 Question Id : 7773932757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 3 &F 91 U@ s-sid dd o7

Options :



1. « Tiforad
2. % IR
3. % qgcIoH
4. % 3T

Question Number : 54 Question Id : 7773932758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the molecular-mass of Pentane?
Options :

1. # 66

2.% 72

3.% 78

4, % 86

Question Number : 54 Question Id : 7773932758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS BT SATUTTI -5 T 67
Options :

1. % 66

2.% 72

3. % 78

4. % 86

Question Number : 55 Question Id : 7773932759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following diseases is not caused by virus?
Options :

1. ¥ Malaria



2. # Dengue
3. ¥ Common cold

4. * Influenza

Question Number : 55 Question Id : 7773932759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad § 3 H1 9 Sar Ry 3 76 g 82
Options :

1. ¢ AR

2. % S

3. % GiYl-Sh™

4. % FORIUS

Question Number : 56 Question Id : 7773932760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following neighbour of India is larger than India in terms of area?
Options :

1. % Bangladesh

2. % Sri Lanka

3. % China

4. % Afghanistan

Question Number : 56 Question Id : 7773932760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA &1 FEfafad § 9 o9 1 USSR S 9% d $i 2P I URd 4 981872
Options :

1. % gAY

2. % giciehT



3. ¢ I
4. % BTG

Question Number : 57 Question Id : 7773932761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What are the 'kayals' in the Malabar coast?
Options :

1. # Mountains

2. ¥ Backwaters

3. % Plateau

4. % Red soil

Question Number : 57 Question Id : 7773932761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AIAER d¢ § HaTe &1 672

Options :

1. # Ugls

2. ¥ SHA

3. % UoR

4. % od gt

Question Number : 58 Question Id : 7773932762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following clouds areblack or dark grey in colour?
Options :

1. % Cumulus

2. % Nimbus

3. # Cirrus



4. % Stratus

Question Number : 58 Question Id : 7773932762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrofaRed B & & 9 STed e a1 TeX R I F 8id 62
Options :

1. % HURIIHY

2. ¢ qui Uy

3. % &Y 7Y

4. % TR AY

Question Number : 59 Question Id : 7773932763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Karewa formations are helpful for cultivation of which of the following?
Options :

1. # Rice

2. % Wheat

3. % Zafran

4. ¥ Sugarcane

Question Number : 59 Question Id : 7773932763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Feal FEfared # 9 fhge! Wt & o 951 &7
Options :

1. # ddd

2. % g

3. ¢ SR

4, % T



Question Number : 60 Question Id : 7773932764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who out of the following is a Pallava ruler?
Options :

1. % Sinhavishnu

2. % Pulakeshin IT

3. ® Kirtivarman

4. # Dantidurga

Question Number : 60 Question Id : 7773932764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad & I ®1F ucaa N 62
Options :

1. ¢ Rigfawy

2. % A RM fgdia

3. % pifdarq

4, % fcrgr
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Group Id : 77739343
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General Awareness2

Section Id : 777393116
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 777393137
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7773932765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following regions did Chaitanya Mahaprabhu come from?
Options :

1. * Punjab

2. ¥ Bengal

3. * Gujarat

4. * Tamil Nadu

Question Number : 61 Question Id : 7773932765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ety fafRed & 9 forg 8= 9 emu 2
Options :

1. % G99

2. ¢ ST



3. % ORI
4, % QAT

Question Number : 62 Question Id : 7773932766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Bahmani kingdom established?
Options :

1. % 1325

2. % 1339

3. ¥ 1347

4. % 1356

Question Number : 62 Question Id : 7773932766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEH- qrHToY foh e a8 RITUT g U2
Options :
1. % 1325
2. % 1339
3. ¥ 1347
4. % 1356

Question Number : 63 Question Id : 7773932767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under whose supremacy did India come, after the Government of India Act, 1858?
Options :

1. ¥ Queen Victoria

2. # Queen Elizabeth I

3. # Queen Elizabeth II

4. * Queen Alexandra



Question Number : 63 Question Id : 7773932767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA DR FAFTH, 1858 & 916 URd fhads a<ig & 1
Options :

1. ¢ HeRH! fageian
2. % HERM! Ufcrsay gyd
3. % HERM! Tleraey fgad
4. % HgRMI TAdoIgl

Question Number : 64 Question Id : 7773932768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the president of Afghanistan?
Options :

1. ¥ Abdullah Abdullah

2. % Hamid Karzai

3. ¥ Ashraf Ghani

4. % Abdul Rashid Dostum

Question Number : 64 Question Id : 7773932768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST & PUfd B &2

Options :

1. # 3fegcxile HogeTle

2. % GIHG Yo

3. ¢ 3R T

4. % 3fegal XRE ERaH




Question Number : 65 Question Id : 7773932769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which city headquarters of NATO is located?
Options :

1. # Doha

2. % London

3. ¥ Brussels

4. % Luxembourg City

Question Number : 65 Question Id : 7773932769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ATe) &1 AT Hal (Ud g2

Options :

1. % QIgl

2. ® deA

3. ¢ O

4. % AHIHTI R

Question Number : 66 Question Id : 7773932770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the first Indian to be RBI governor?
Options :

1. # John Matthai

2. % C.D.Deshmukh

3. # R. K. Shanmukham Chetty

4. ¥ T.T.Krishna

Question Number : 66 Question Id : 7773932770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YR ReTd 9 & Tga YR TTa=R a4 a1al Sfad D1 A2
Options :

1. % S HYTS

2. ¢ ). 33"

3. % 3R & IAGEH It
4. % A pun

Question Number : 67 Question Id : 7773932771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was honoured with 'Swami Vivekananda Karmayogi Award' in 2020?
Options :

1. ¥ Jadav Payeng

2. # Nirman Singh

3. # Sushila Kumari

4. # Igbal Khan

Question Number : 67 Question Id : 7773932771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 ¥ W faad e HHAM ReBR ¥ foodt Frna fosar mam
Options :

1. ¢ STTed Ura

2. % fd Rig

3. % YR HAR]

4, % ghdlc] W

Question Number : 68 Question Id : 7773932772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following area in Mumbai was in news for protest against cutting of trees?
Options :

1. % Chheda Nagar

2. ¥ Aarey

3. # Lake Valley Garden

4. % Vrindavan Forest

Question Number : 68 Question Id : 7773932772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g3 # Fafifed 9 &9 91 &5 UST &1 bers o faRiy & forg weri 7 um
Options :

1. % $GITR

2. ¥ 3R

3. % Q% dat Me

4. % gq1d- o1

Question Number : 69 Question Id : 7773932773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the theme of World Wildlife Day 2020?
Options :

1. # Life below Water: for People and Planet

2. # Big cats - predators under threat

3. % Sustaining all life on Earth

4. % The future of wildlife is in our hands

Question Number : 69 Question Id : 7773932773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fay g=oita fgad 2020 &1 fawa a1 U

Options :



1. % T3 [9ql d1ex : Bk Ulud U8 TiHe

2. % fq ey - e sfex 9

3.« R 3MTd 18 3119 31

4. % T IR 3T AI3eS g 39 3 3R 5US

Question Number : 70 Question Id : 7773932774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This is a home to gangetic dolphins and 75 per cent population of critically endangered species gharial. Madhya Pradesh government declares as
an Eco - sensitive zone. Name it.

Options :

1. ¥ National Chambal Sanctuary
2. % Sariska National Park

3. # Pench National Park

4. ® Kanha National Park

Question Number : 70 Question Id : 7773932774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 Tfess Sifeth &1 TR & 3R 8T YR U | quvmg Usiiad! af$ard &1 75 Ufad SHaTe 8 | Aeqves TRbR - 38 T Yfarul-
aeTeNd & aiftd favar g1 9T Sarga-

Options :

1. ¢ P el 3HIRUY

2. % PRI AP I

3. % U RIS I

4. % BT IIM

Question Number : 71 Question Id : 7773932775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which city has bagged the top position in India having a population under 10 lakh as the cleanest city?
Options :




1. # Varanasi

2. % Ranchi

3. ¥ Jamshedpur
4. % Sagar

Question Number : 71 Question Id : 7773932775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
10 I1G T HH SIS 9T HRA P ST R A Jad W3 e & 0 7 I —iF g1k fear g2

Options :

1. % gRTOM!

Question Number : 72 Question Id : 7773932776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Eat Right Mela” is organised by whom?

Options :

1. ¥ Food Safety and Standards Authority of India
2. # Food Adulteration Authority of India

3. % Ministry of AAYUSH

4. # State Health Department

Question Number : 72 Question Id : 7773932776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
$C XSC Ha fhudh gRI Siford fobar S g2

Options :

1. ¥ YRR W1 GR&f 3R e WA



2. % YR WTe S(OTH0T YT
3. % Y HATTY
4, % o9 BT WY faHTT

Question Number : 73 Question Id : 7773932777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the first time 2 election commisioners were appointed in election commission in India?
Options :

1. ¥ 1989

2. % 1994

3. % 1991

4. % 1992

Question Number : 73 Question Id : 7773932777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H Ugdll IR Hara- SRt § 2 3 FHata- $gddl &) Mgiad fovd ay & 1Ts &
Options :

1. ¥ 1989

2. % 1994

3. % 1991

4, % 1992

Question Number : 74 Question Id : 7773932778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian Constitution is related to amendments?
Options :

1. % 123

2. % 356

3. ¥ 368



4. % 375

Question Number : 74 Question Id : 7773932778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU 7 DI AT Sfde RN 3 Aafd g2
Options :

1. % 123

2. % 356

3. ¥ 368

4, % 375

Question Number : 75 Question Id : 7773932779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following writs means that the court orders that the arrested person should be presented before it?
Options :

1. ¥ Mandamus

2. % Quo Warranto

3. % Habeas Corpus

4, % Certiorari

Question Number : 75 Question Id : 7773932779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 o O Re & gR1 ey feddt IRER safed & aared & JA TRd R4 61 3G odl 82
Options :

1. % GRHTCR

2. % JYDR Y37

3. ¢ §dl UEfieprum

4. % IANUIRe




Question Number : 76 Question Id
Orientation : Vertical

: 7773932780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
How many members are sent from Uttar Pradesh to the Rajya Sabha?

Options :
1. #® 26
2. % 28
3. ¥ 31
4. % 35

Question Number : 76 Question Id
Orientation : Vertical

: 7773932780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

IR U B T IHT H fran e &t mit g2

Options :
1. % 26
2. % 28
3.9 31
4. % 35

Question Number : 77 Question Id
Orientation : Vertical

: 7773932781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Where is the Green Park Stadium located in India?

Options :

1. # Indore
2. % QGwalior
3. ¥ Kanpur

4. % Surat

Question Number : 77 Question Id

: 7773932781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YR B W U Rfeaq Fal fyd 32
Options :

1. % 3ER

2. % IR

3. PR

4, % Id

Question Number : 78 Question Id : 7773932782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following games is Simona Halep related to?
Options :

1. ¥ Badminton

2. % Hockey

3. ® Football

4. ¥ Tennis

Question Number : 78 Question Id : 7773932782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ry gTey Fafead # 2 fey wd 4 wwifd 82
Options :

1. % qsfticd

2. ® gl

3. % pedld

4.+ Y

Question Number : 79 Question Id : 7773932783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who out of the following has been named the Leading T20 Cricketer in the World in 2019 by the Wisden Almanack?
Options :

1. # Rashid Khan

2. ¥ Andre Russell

3. # Rohit Sharma

4. % Ben Stokes

Question Number : 79 Question Id : 7773932783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqore Ted g1 FafaRad & 9 fvdt 2019 &1 fayerroft o fharer &1 g1 fear man g2
Options :

1. % MR @H

2. ¢ 3fig A

3. % fga =zl

4. % 99 €I

Question Number : 80 Question Id : 7773932784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following tournaments does the team Indian Arrows play in?
Options :

1. # Indian Super League

2. # Pro-Kabaddi League

3. ¥ I-League

4. # Badminton Premier League

Question Number : 80 Question Id : 7773932784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 @ o1 3 ¢ide # & o @ dadi o



Options :

1. % & guR Al

2. % Ylhagl ol

3. ¢ 35 - A

4. % gfte R an

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Arithmetic Abilityl

5
77739344
0

0

No

No

0

20

No

Arithmetic Abilityl

777393117
1

Online
Mandatory
20

20

20

Yes

1
777393138
Yes



Question Number : 81 Question Id : 7773932785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akshat has 315 red rose plants, 420 white rose plants and 945 black rose plants. He wants to rope them in a garden in some rows. What is the
minimum number of rows required such that all the rows have equal number of plants and each row has same kind of plants?

Options :
1. * 10
2. %20
3.¥ 16
4. % 18

Question Number : 81 Question Id : 7773932785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3f&1d & U 315 AT TS & DY, 420 Tohe e &b Ui 3R 945 1ol T & U1 § | 98 S8 U §7i1d § $e Ufdadl § aRTHT argan g |
A Ui &t e 3 & fora i didaat & a1 S T SR U dfdd J T UHR & Uil gt

Options :

1. % 10

2. % 20

3.¥ 16

4.% 18

Question Number : 82 Question Id : 7773932786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the following expression by using BODMAS.

56+ (20 +20 x 1/4) - 3{(5 x 6) + (8 X 9)}
Options :

1. % 207

2. % 208

3.% 1

4. 225



Question Number : 82 Question Id : 7773932786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfRad THIHRUT & BODMAS &1 SUINT HRPb TR Diold |

56+ (20 +20 x 1/4) - 3{(5 x 6) + (8 X 9)}
Options :

1. % 207

2. % 208

3.% 1

4. 225

Question Number : 83 Question Id : 7773932787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What approximate value should come in place of the question mark (?) in the following question?

(24)2 399 41
oy PPN e B
9 39 ° 899
Options :

1. ¢ 1600

2. % 1650

3. % 1700

4. % 1550

Question Number : 83 Question Id : 7773932787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafaRad Uy H usaras g (2) & QI T HIT UR &1 {14 31 918 E?



(24)2 399 41
ey "l R R
9 39 ° 899
Options :

1. ¥ 1600

2. % 1650

3. % 1700

4. % 1550

Question Number : 84 Question Id : 7773932788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What value must be given to x to make 9389x65 exactly divisible by 11? (Where x is a single digit number)
Options :

1. %3

2. % 4

3.%5

4. 7

Question Number : 84 Question Id : 7773932788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9389x65 DI 11 T ofd: faHT=a 81 & 7T x BT {1 1 g1 AW (S8t x U 3 1g U= ©)
Options :

1. %3

2. % 4

3.%5

4. 7

Question Number : 85 Question Id : 7773932789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the value of /8 + 2412 —

V6= \2
Options :
1. %2
2.%3
3.0
4. % 4

Question Number : 85 Question Id : 7773932789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8+ 241 _v';ﬁ T AT AT HifeT

Options :
1. %2
2.%3
3.0
4. % 4

Question Number : 86 Question Id : 7773932790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average weight of 13 persons among 14 persons is 78 kg. The weight of 14th person is 39 kg more than the average weight of all the 14
persons. Find the weight of 14th persons.

Options :

1. % 101 kg
2. % 139kg
3. % 140 kg
4.9 120 kg

Question Number : 86 Question Id : 7773932790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

14 Tfeaat § F 13 ATl BT 3NGd ao 78 fhuT. 81 149 ufaa &1 ao Gt 14 safdaal & 3igd aviq 9 39 fbun. Qa1 81 143 afad &1
o JTd HifeTT|

Options :

1. % 101 fopu.
2. % 139 fopu.
3. % 140 fou.
4.+ 120 fou.

Question Number : 87 Question Id : 7773932791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average weight of 6 students is 50 kg. If two student of the average weight of 51 kg is added and two other students of the average weight of
55 kg are also added then find the average weight of all the students?

Options :

1. % 61 kg
2. % 51.5kg
3. % 52kg
4.9 51.2kg

Question Number : 87 Question Id : 7773932791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 BT BT 3NTd Ioi 50 fhaomd g1 afe 51 fearm & Td IoiH ard &1 331 &) A forar STt 8 auT 55 fFamm & 3id a9 & al
30 B B Y =it s Sirar 8, o 9t I @1 3 g JTd Bifve|

Options :

1. % 61 fparmA
2. % 51.5 fhaum
3. % 52 foparmH
4. 512 fHaum




Question Number : 88 Question Id : 7773932792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average score of 13 subjects is 78. The average score for the first 7 subjects is 76 and the average score for the last 7 subjects is 79. Find the
marks obtained in the 7th subject.

Options :
1. 77
2. % 84
3.9 71
4. % 83

Question Number : 88 Question Id : 7773932792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

13 fowal 1 SIyd i 78 B | TuH 7 fawal 1 Sfiyd i 76 § 3R Sifaw 7 fawal &1 sira sids 79 81 78 faw § U sies 71d spifrg|
Options :

1. % 77

2. % 84

3.¥ 71

4. % 83

Question Number : 89 Question Id : 7773932793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On a Rs. 12,000 payment order, a person has a choice between three successive discounts of 20 percent, 15 percent and 25 percent and two
successive discounts of 40 percent and 20 percent. By choosing the best offer he can save Rs. x more. Find the value of ‘x’?

Options :

1. ¥ Rs. 300
2. % Rs. 255
3. ¥ Rs. 360
4. % Rs. 480



Question Number : 89 Question Id : 7773932793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12,000 U & IS W, Th dAfad <dIH HHNTD Fe 20 U=, 15 TA=Id 3R 25 U= 9UT 317 &1 SHHNT Fe 40 Ta=d 3R 20 U= &
A faded Ia1 ¢ | TaY 33T fadhed T IR 98 x ¥UY SR Fa1 A1 § | x’ HT A J1d Hiforg|
Options :

1. % 300 390
2. % 25530
3. ¢ 360 T4
4. % 480 39Y

Question Number : 90 Question Id : 7773932794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dealer offers a cash discount of 20 percent, he further allows 160 articles when the customer buys 150 and still makes a profit of 20 percent.
How much percent above the cost price were he listed?

Options :

1. # 100 percent
2. % 60 percent

3. % 75 percent

4. # 66.66 percent

Question Number : 90 Question Id : 7773932794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fehdT 20 TA=Td &1 Fah¢ G odl 8, 3 IIq DI A6H 150 GxY WG § Al 98 160 TXGU <l § 3R v off 20 wfc=ra &1y e
A1 ¢ | I Hd Yoo ¥ ford=1 ufa=d sifiies wiwa sifed fasar um

Options :

1. % 100 Yfa=rd
2. ¢ 60 Ufa=rd

3. % 75 gfard

4. % 66.66 Uf=Id




Question Number : 91 Question Id : 7773932795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an office in Singapore there are 60 percent female employees. 50 percent of all the male employees are computer literate. If there are total 62
percent employees computer literate out of total 1600 employees, then the number of female employees who are computer literate is:

Options :
1. % 690
2. % 674
3.9 672
4. % 960

Question Number : 91 Question Id : 7773932795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR & T Sraiad # 60 U< Afeal SHaR! g | 94 738 HHAmal § ¥ 50 Ya=d JoV HEeR A1eR § | i $d 1600 HHATRG J
B 62 VA SHAR HHR T1eR &, T PR TeR Al HHATE! Bl IBT &

Options :

1. % 690

2. % 674

3.¥ 672

4. % 960

Question Number : 92 Question Id : 7773932796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of 200 fishes in an aquarium, 99 percent are red. How many red fishes must be removed in order to reduce the percentage of red fishes to 98
percent?

Options :
1. % 10
2. % 50
3.% 2



4.4 100

Question Number : 92 Question Id : 7773932796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TR H 200 el # 9, 99 U= 1 8 | ret Hedferd! Bl 98 U= $H3 o o et aret Hesferd! &1 gern ST aTiee?
Options :

1. %10

2. % 50

3.% 2

4.+ 100

Question Number : 93 Question Id : 7773932797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Due to a price hike of 20 percent, 4 kg less sugar are available for Rs. 120. What is the initial price per kg of sugar?
Options :

1. ¥ Rs. 5/kg

2. # Rs. 4/kg

3. % Rs. 8/kg

4. #® Rs.5.5/kg

Question Number : 93 Question Id : 7773932797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teg ® 20 UFA=d &1 gfg 89 & BRUI, 120 S0 H 4 franmd oA i+ ot 8 1 -1 &1 Ul framd uRfives Hidd oan g2
Options :

1. ¢ 5 U fbaumd

2. % 4 30Y/fbaH

3. % 8 ¥UY/fhalamd

4. % 5.5 300/fbeU™



Question Number : 94 Question Id : 7773932798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rahul buys a plot of land for Rs. 96,000. She sells 2/5 of it at a loss of 6 percent. He wants to make a profit of 10 percent on the whole
transaction by selling the remaining land. The gain percent on the remaining land is:

Options :
% 20 percent

2
20 - percent
2.4 3

; % 14 percent

4 % 1 percent

Question Number : 94 Question Id : 7773932798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R8T = STHIF &1 U W 96,000 YT T VRIGT| 98 I 2/5 HIT 6 UA=d 81 TR S9dl 5| 98 /T YfH ! 9 IR aed IR 10 Ufa=d
1 AT ST 18T 8 | AT YfH TR A1 U= 6:
Options :

| x 20ufaerE

20 2 ufaera
2. W 3

s » lavfaed



PR IGRS

Question Number : 95 Question Id : 7773932799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader purchases a watch and a wall clock for Rs. 390. He sells them making a profit of 10 percent on the watch and 15 percent on the wall
clock. He earns total profit of Rs. 51.50. The difference between the original prices of the wall clock and the watch is equal to:

Options :

1. * Rs. 80
2. % Rs. 120
3. ¥ Rs. 110
4. * Rs. 100

Question Number : 95 Question Id : 7773932799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh SUTURT 390 ¥UY H T U1 3R T AR gl WAIGdl ¢ | a8 I Uo! UR 10 Uf=Id 3R dlaR Ut WR 15 WIA=Id 1 A1H HHGR o ol
g1 98 $d 51.50 IUU BT ATY HATA & | AR TS 3R TS! &1 Jol B 1Hd] b a1d BT 3R 8

Options :

1. % 80%0Y
2. % 120909
3.4 11030
4. % 100 309

Question Number : 96 Question Id : 7773932800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what ratio must tea worth Rs. 60 per kg be mixed with tea worth Rs. 65 a kg such that by selling the mixture at Rs. 68.20 a kg., there can be a
gain of 10 percent?

Options :
1. 3:2



2. % 4:3
3. % 34
4. % 5:4

Question Number : 96 Question Id : 7773932800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

60 3T Ul T eliuTe arelt °rd & 65 ¥U3 Ufd fhaiurd arelt g &1 fosq srgard & fiyeman SiHn anfe drfes I & fHyor &1 68.20 303 Ufd
fPAIE & g W dgH R 10 U= &1 AH 81 T2

Options :
1. ¥ 3:2
2. % 4:3
3. % 34
4. % 54

Question Number : 97 Question Id : 7773932801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prasad buys 1998 model Bullet for Rs. 32,000. He spent Rs. 4,000 on repairs. The rate of depreciation of the Bullet is 16.67 percent. What will be
the profit or loss percentage of Prasad in selling his bullet for Rs. 29,000 after two years?

Options :

1. * 11.67 percent profit
2. % 19.44 percent loss
3. % 12.24 percent loss
4. ¥ 16 percent profit

Question Number : 97 Question Id : 7773932801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRITE 1998 ATEA & eI BT 32,000 YT H WRIGT | IT FRFAA TR 4,000 I0U W [hU| oI & HedgN Bi X 16.67 Ufa=Id | &1 a9 &
§1E YT Faic Bl 29,000 TUY T s TR UG B Y A7 g1 fbamr ufa=rd g

Options :




1. % 11.67 9fa=Id a1y
2. % 19.44 gfa=rd 1A
3. % 12.24 fawrd g1
4. 16 Uf=Id @Y

Question Number : 98 Question Id : 7773932802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rajan got married 8 years ago. His present age is 6/5 times his age at the time of his marriage. Rajan's sister was 10 years younger to him at the
time of his marriage. The present age of Rajan's sister is:

Options :

1. % 32 years
2. ® 36 years
3. % 38 years
4. % 40 years

Question Number : 98 Question Id : 7773932802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 aY qd o1 1 faaTg g3iT| P! aad 311, faTe & T0d IUB! 3 Bi 6/5 THT 8| IS B 98- IUD [9dT8 & THT I 10 T4 DI
2| IO Pt T8 B aAHH 3T © -
Options :

1. % 3294
2. % 3694
3.9 3899
4. % 4099

Question Number : 99 Question Id : 7773932803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q and R started a business by investing Rs. 40,500, Rs. 45000 and Rs. 50000 respectively. After 6 months R withdrew Rs. 10,000 while P
invested Rs. 4500 more. In annual profit of Rs. 53,100 the share of R will exceed that of P by:



Options :

1. # Rs. 1000
2. % Rs. 850
3. #* Rs. 950
4. ¥ Rs. 900

Question Number : 99 Question Id : 7773932803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q 3R R = HHTT: 40,500 T, 45000 YT 3R 50000 SUY BT %] Hh Th HIH L= BT 6 TG & &G R 7 10,000 ¥9 FHabrat
foTT STafe P = 4500 T SR 9= fHAT1 53,100 ¥UF & A1f¥S ATY & R &7 381 P $1f G-

Options :

1. % 1000 30
2. % 850 %04
3. % 950 ¥0Y
4. ¥ 900 39U

Question Number : 100 Question Id : 7773932804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a 729 litres mixture of milk and water, the ratio of milk to water is 7:2. To get a new mixture containing milk and water in the ratio 7:3, the
amount of water to be added is:

Options :

1. ¥ 81 litres
2. % 71 litres
3. % 56 litres
4. % 50 litres

Question Number : 100 Question Id : 7773932804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GY SR U & 720 Siex yor &, g R Ul &7 SfuTd 7: 2 81 7: 3 % SIATd H g SR T ¥ gad Ueb =11 fH8/07 Ured &y & forg, aret



&1 {1 ) e S R
Options :

1. ¥ 81 dic

2. % 71 TR

3. % 567lex

4. % 50 @I
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Question Number : 101 Question Id : 7773932805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the sum and difference of two numbers is 5:1. What is the ratio of the sum and difference of the cubes of the two numbers?
Options :

1. % 15:22

2. % 20:21

3.9 35:19

4, % 34:15

Question Number : 101 Question Id : 7773932805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS o AT 3R SfaR BT SIUTd 5:1 51 31 &l GHATSHT & ° o TN 3R SR BT T T 52
Options :

1. % 15:22

2. % 20:21

3.9 35:19

4, % 34:15

Question Number : 102 Question Id : 7773932806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The simple interest on a certain sum for the first 3 years is Rs. 8,178. The rates of interest are 7 percent p.a., 10 percent p.a. and 12 percent p.a.
for the first year, second year and the third year respectively, then find the sum.

Options :

1. ¥ Rs. 28200
2. % Rs. 29200
3. % Rs. 22800
4. % Rs. 22900



Question Number : 102 Question Id : 7773932806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tgd 3 IO o o Ueb TSI IR OR TR OT &7t 8,178 ¥UY § | TSl 1 & Ugdl av, gux ay SR diR a8 & g shi=T: 7 ufard ufd I,
10 Tifarrd gfa o 3R 12 ufard ufd oy §, & gae 31 Sifog|

Options :

1. ¢ 28200 3T
2. % 29200 3T
3. % 22800 30T
4. % 22900 304

Question Number : 103 Question Id : 7773932807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At what rate per annum will Rs. 32000 yield a compound interest of Rs. 5044 in nine months interest being compounded quarterly?
Options :

1. ¥ 20 percent

2. % 32 percent

3. % 5 percent

4. % 16 percent

Question Number : 103 Question Id : 7773932807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for aTffer &= T 32000 SUT HT 1 HEH H Ahdla SIS 5044 U g1 STRTY, IS 1ot fadTe ! aiford 81 38T 82
Options :

1. ¢ 20 fd=rd

2. % 32 gfd=rd



Question Number : 104 Question Id : 7773932808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A borrows Rs. 800 at the rate of 12 percent per annum simple interest and B borrows Rs. 910 at the rate of 10 percent per annum simple interest.
In how many years will their amounts of debts be equal?

Options :

1. ¥ 22 years
2. ® 24 years
3. % 11 years
4. % 12 years

Question Number : 104 Question Id : 7773932808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, 12 UfI<Id IR &A1 1 &3 ¥ 800 ST GUT B, 10 UFIRIG JTYRUT SIS 1 X T 910 TYY BT IYR A § | fa a8 & d1e I BN
EARUPUCRE R SR

Options :

1.« 229y
2. % 249y
3.% 1199
4. % 1299

Question Number : 105 Question Id : 7773932809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the difference between compound and simple interest on Rs. 25000 at a certain rate R percent per annum for 3 years is Rs. 775. If the sum
becomes double and rate is increased by 50 percent then find the difference between compound and simple interest on new sum for 2 years.

Options :

1. % Rs. 1155
2. % Rs. 1100
3. % Rs. 1200
4. ¥ Rs. 1125



Question Number : 105 Question Id : 7773932809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 25000 TTT B G-RIT TR 3 T4 H R TR D1 & I Tehgie 3R AR ST & d1d 3R 775 U § | Al Y=RIRT 1 GRIAT fobat
ST § MR & H 50 Ufa=rd &1 gfg Pt el & ot it eFRIR WR 2 9 B Fehgf SaTel SiR TR &Tol & &t SR J1d biforg |

Options :

1. % 1155 %00
2. % 1100 ¥T9Y
3. % 1200 0
4. ¥ 1125 0

Question Number : 106 Question Id : 7773932810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy goes from A to B with a speed of 30 km/hr and comes back from B to A with a speed of 20 km/hr. If the distance between A and B is 150
km then find the average speed of the boy in his entire journey.

Options :

1. * 22.5 km/hr
2. % 24 km/hr
3. % 25 km/hr
4. % 27.5 km/hr

Question Number : 106 Question Id : 7773932810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ASHT A U B dF 30 fHtl/ geT o1 1fd | ST § $iR 20 feit/ der 1 1fd 9 B ¥ A T 9199 AT ] | Tf A 3R B & &9 &1 g 150
fortt 8, A TS B T I H 309 T J1d BTl

Options :

1. # 22.5 km/hr

2. % 24 km/hr

3. % 25 km/hr



4. % 27.5 km/hr

Question Number : 107 Question Id : 7773932811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two man start together to walk a certain distance one at 4 km/hr and another at 3 km/hr. The former arrive half an hour before the latter. Find the
distance.

Options :
1.¥6
2. % 8
3.%9
4. % 12

Question Number : 107 Question Id : 7773932811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 3MTeH! T MY g8 &1 T 1Y 79 HRAT Y& B & | IGH T 4 [hfl/aie ofik oy 3 fovelt/ 6 & i & 9aicll © | g arell e,
TR Y T8 € Usd Ugadl § | GX J1d BIerg|

Options :

1.¥6

2. % 8

3.%9

4, % 12

Question Number : 108 Question Id : 7773932812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car starts to running at the speed of 50 km./hr. After each half hour its speed increases by 10 km./hr. How much distance will be covered by it
in 3 hours?

Options :
1. * 200
2. % 215



3. % 220
4. % 225

Question Number : 108 Question Id : 7773932812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP BR 50 fHell./der o 1 T T SR Bl & | TS 1Y °e 918 39! i 10 fet /et 9¢ it ] 1 3 € # U8 fra-t gt ag i
Options :

1. # 200

2. % 215

3. % 220

4.+ 225

Question Number : 109 Question Id : 7773932813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two taps A & B can fill a cistern in 45 minute & 60 minute respectively. There is third exhaust tap C at the bottom of the tank. If all the taps are
opened at the same time the cistern will be full in 40 minute. In what time can exhaust tap C empty the cistern when full?

Options :

1. * 75 minute
2. * 76 minute
3. % 72 minute

4. * 74 minute

Question Number : 109 Question Id : 7773932813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l 3 A 9 B U ¢l &I HHTT: 45 e 3R 60 fiFe & 1R I &1 <ol ot acit H U b 7d ¢ g1 afe I+t 7l &) v 91y @i fean
S <t ot 1 X1 HRA H 40 B77e &1 900 @ | fova= 900 O 6T 7 ¢ UR1 g3 <! &l Wl R g

Options :

1. % 75 e

2. % 76 AT




3.« 72 e
4. % 74 C

Question Number : 110 Question Id : 7773932814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dinesh and Dipu can design an application software in 16 hours and 12 hours respectively. Dinesh joins Dipu 4 hours before completing the
design, Dipu had started the design work alone. Find how many hours Dipu has worked alone?

Options :

1. ¥ 5 hours
2. * 6 hours
3. % 7 hours

4. % 3 hours

Question Number : 110 Question Id : 7773932814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fE=r SiR Y U Tl GthedeR &l HH 16 G0l 3R 12 YUl § TSz o Udhd ¢ | {37 feomg= 1 8H ¥ 4 90¢ Uga Y &
1Y M Bl 5| A1Y A FSSTe Y= fasar o1 J1d Sifor fos <Y A srobet fba gvet ao s fasam

Options :

1. v 590

2. % 69U

3. % 790¢

4. % 390

Question Number : 111 Question Id : 7773932815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C can complete a work in 10, 20 and 30 days respectively when they work individually. All the three started simultaneously. After three
days A left. After 2 more days, B left and C completed the remaining work alone. If the total work is for Rs. 6000. Find the amount (in Rs.)
received by C.

Options :



1. ® 1500
2. % 1800
3. # 2800
4. % 2700

Question Number : 111 Question Id : 7773932815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C 519 TH HTH B 3THT-3QT HTH HRd & df d HH: 10, 20 3R 30 f&A H QT IR G & | -1 U 1Y YB3 Hd § Al
dH e 91 A FE B T 8, 39F 2 el & 91, B 7 H1 B1s a1 3R ¢ 7 I B 3idbal QI {1 I Fo HTH 6000 TTI HTE @l C
& GRT UT F (FuT H) F1d Sifou|

Options :

1. % 1500

2. % 1800

3. % 2800

4. ¥ 2700

Question Number : 112 Question Id : 7773932816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Water flows at the rate of 10 meters per minute through a cylindrical pipe 5 mm in diameter. How long would it take to fill a conical vessel whose
diameter of the base is 40 cm and depth is 24 cm?

Options :

1. % 51 minutes 12 seconds
2. % 50 minutes 32 seconds
3. % 58 minutes

4. % 30 minutes 32 seconds

Question Number : 112 Question Id : 7773932816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 for} SO 91 U SRR UTgy & H1eIH F 10 Hiex Ufd e ot g3 3 Ut 98d1 8| T UHTHR Fd I U § fb a1 THT T




ST SMUR BT AT 40 JHT 3R TERTs 24 T 82
Options :

1. v 51 fiFc 12 s

2. % 50 AT 32 s

3. % 58 e

4. % 30 e 32 s

Question Number : 113 Question Id : 7773932817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The volume of a conical tent is 1232 cubic metre and the area of its base is 154 square metre. Find the length of the canvas required to build the
tent, if the canvas is 2 metre in width. (Take n=22/7)

Options :

1. % 270 m
2. % 272 m
3. % 276 m
4.9 275 m

Question Number : 113 Question Id : 7773932817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YBIDHR T DT ST 1232 U HIX g 3R 3P YR BT &AABA 154 T HIC ¢ | T T & [T 3TIRIP B-1a1g b1 wialls J1d
BT, Tf P1arg BT et 2 MeX g1 (8T =22/7)

Options :

1. % 270 9t

2. % 27274t

3. % 276 HI

4.9 275

Question Number : 114 Question Id : 7773932818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four identical circular plates are placed in a square tray such that they are exactly fit into that. The area of each plate is equal to circumference of
it. Find the area of the tray that is not covered by the plates.

Options :

1. % 16(n - 2)
2. % 16(8 - m)
3. ¥ 16 (4-n)

4. % 16 (4 -1/2)

Question Number : 114 Question Id : 7773932818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR JHH MATHR W &I Th TNMHR U H 39 a8 8@ 91T § [ d foepa 390 fihe 31d € | U Wi &1 &70hd S9b IR & sRIaR
& | 4TSl BT &AW T PO Sl WiT gRT FoRT g1 5|

Options :

1. % 16(n-2)

2. % 16(8 - 1)

3. ¥ 16 (4-1)

4.% 16 (4-1/2)

Question Number : 115 Question Id : 7773932819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A right circular solid cylinder of base radius 4 cm and vertical height 22.5 cm is melted to from 8 equals solid spheres. If there is a process loss of
20 percent during such formation, what is the radius of each of the solid sphere so formed?

Options :
1. * 1.5cm
2. % 3cm
3. % 3.6cm

4. % 4 cm

Question Number : 115 Question Id : 7773932819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TS TEGRIG Sa oI YR &1 For 4 It 3R SHeaier HaTs 22.5 IH 8, I Ugaa 8 Bic 319 TMid § uikafdd feear S g1 afe 59
R uferar § 20 UfIRIG YT &1 817 Bl 3, A 39 TR 81 U B 319 TMal ot fHsar o gt

Options :

1. % 159
2. ¢ 340t
3. % 3690
4, % 4w

Question Number : 116 Question Id : 7773932820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This question are based on the following pie chart which shows the viewership of different sports channels in the month of February, 2003 in
India. There are no overlaps in viewership of channels.

STAR Sports,
Ten Sports, 30°

1

If 60,000 people watched STAR sports on an average per day in February 2003, then how many more people watched Set Max than Ten Sports
on an average per day for the same period?

Options :
1. ¥ 2,70,000



2. % 2,85,000
3. % 3,00,000
4. % 3,00,250

Question Number : 116 Question Id : 7773932820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J uy Fofeiad org a1d uR snetia § S HRd B tRast 2003 & HER H fafte We 9-al & axie! &1 TReam &1 g2far 81 Ial o a=ih! Bt
mﬁﬁ‘s‘ 3ffaRay (Overlaps) qﬁ%l

sTgdine, 45°

TR s ,
30°

o Ted
15°

g WHRaR 2003 F U {37 ST 60,000 T A TR W ST, A1 3T A & SR U & 3figa fpan ¢ifdies it o widy &t
I 8 Ye A &1 ¢@d 4 2

Options :

1. ¥ 2,70,000
2. % 285,000
3. % 3,00,000
4. % 3,00,250



Question Number : 117 Question Id : 7773932821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This question are based on the following pie chart which shows the viewership of different sports channels in the month of February, 2003 in
India. There are no overlaps in viewership of channels.

STAR Sports,
TenSports, 30°

15"

If the viewership of DD sports for the first half of February is half that of the second half of February, then what is the ratio of viewership of DD
sports for the second half to that of ESPN for the whole month?

Options :
1.%9:8
2.¥8:9
3.%2:3
4. % 3:2

Question Number : 117 Question Id : 7773932821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 Uy iR o oré wR neid & S 4R & BRaR 2003 F AR § fafts ¥d 90 & <=fel 3t T3 &) exidr g | 9l o1 a=ibl Bt



TJ=T A Bls 3favay (Overlaps) T8l &l

¢ Ty

15°

I At & Ugelt 319 Hig H It TWdH & axfep) 1 T Hras) b X 319 /1 F 3meft B, Al Bra) b &R oY 71g H et Wiy
3R R e & o STHUEA & =ieh! Bt TS BT SUTd T 82

Options :

1.%9:8

2.48:9

3.%2:3

4.%3:2

Question Number : 118 Question Id : 7773932822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table shows the quantity of Rice sold by five different shopkeepers and the percentage of two types of varieties of these Rice.



Shopkeepers Qu;:t;?éﬁﬂlﬂ Type 1 | Type 2
5 100 60 40
percent | percent
= 150 50 50
i percent | percent
75 25
¢ 200 percent | percent
40 60
D L percent | percent
25 75
E 50 percent | percent

Find the total quantity of rice of type 2 sold by C, D and E together.
Options :

1. % 162 kg

2. % 172 kg

3.¥ 182 kg

4. % 178 kg

Question Number : 118 Question Id : 7773932822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRad aifresT & Ui SaT-31aT ghMaR! gRT 9 U I1ad &1 AT 3R 39 9199 &1 &l YHR B! fared| BT UTa=Id a=ial T g |




gfﬁlﬂﬁﬂ éﬁﬁ?ﬂ? Hhi{1 | UehlT 2
(TRatr=a 3)
60 40
i o ufaerd | ufaera
50 50
B e ufaerT | ufaerd
75 25
Z 2l ufaea | ufaera
40 a1l
£ e ufarere | ufaere
25 75
= i ufdera | ufdera
C, D 3R E gRT < 718 U 1Y YHR-2 & A1dd Bl Hd AT 1d Bl |
Options :
1. % 162 foaumm
2. % 172 feaumm
3.« 182 fraumm
4. % 178 fHamH

Question Number : 119 Question Id : 7773932823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table shows the quantity of Rice sold by five different shopkeepers and the percentage of two types of varieties of these Rice.



Shopkeepers Qu;:t;?éﬁﬂlﬂ Type 1 | Type 2
5 100 60 40
percent | percent
= 150 50 50
i percent | percent
75 25
¢ 200 percent | percent
40 60
D L percent | percent
25 75
E 50 percent | percent

Quantities of type 1 of rice sold by B is what percent of the quantities of type 2 of rice sold by C?
Options :

1. # 120 percent

2. ® 125 percent

3. % 75 percent

4. ¥ 150 percent

Question Number : 119 Question Id : 7773932823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRad aifresT & Ui SaT-31aT ghMaR! gRT 9 U I1ad &1 AT 3R 39 9199 &1 &l YHR B! fared| BT UTa=Id a=ial T g |




CCAG AR DR ThIT1 | UhTY 2
(TRatr=a 3)
60 40
i o ufaerd | ufaerd
50 50
2 = ufdera | ufderg
75 25
= il ufaere | ufaee
40 60
o e ufaera | ufdea
25 75
= i ufaera | ufaee
B GRT < 7T I19d & UBR-1 Bt HET, C GRT o< T I19d b YBR-2 Pt HEHT BT fobd=T Ufa=rd g2
Options :
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Question Number : 120 Question Id : 7773932824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The graph given below shows the number of watches (Wrist watches + Wall watches) sold in different months of a year by a Watch shop.



Number of Watches sold in different months

180
160
140
120
100

154

March April May June

B Mumber of Wrist watches sold B Wumber of Wall watches sold

Find the respective ratio of the number of Wall watches sold in April to that of May.
Options :

1. % 7:13

2. % 12:17

3. % 17:39

4. ¥ 7:4

Question Number : 120 Question Id : 7773932824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 7:13
2. % 12:17
3. % 17:39
4. ¥ 7:4
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Question Number : 121 Question Id : 7773932825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

Many companies have moved in the direction of training employees to be multiple skills called multi-skilling.
Options :

1. ® Many companies have moved

2. * in the direction of training employees

3. ¥ to be multiple skills called multi-skilling.

4. % No Error

Question Number : 121 Question Id : 7773932825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate



option. If a sentence is free from error, select No Error.

Many companies have moved in the direction of training employees to be multiple skills called multi-skilling.
Options :

1. ¥ Many companies have moved

2. # in the direction of training employees

3. ¥ to be multiple skills called multi-skilling.

4. ® No Error

Question Number : 122 Question Id : 7773932826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

Our strategic partnership with Google allows us to develop user-friendly technologies, which can work seamless with your voice.
Options :

1. ® Our strategic partnership with Google allows

2. % ys to develop user-friendly technologies,

3. % which can work seamless with your voice.

4. ® No Error

Question Number : 122 Question Id : 7773932826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

Our strategic partnership with Google allows us to develop user-friendly technologies, which can work seamless with your voice.
Options :

1. # Our strategic partnership with Google allows

2. % us to develop user-friendly technologies,

3. % which can work seamless with your voice.

4. ® No Error



Question Number : 123 Question Id : 7773932827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

Having created a new routine it should be compiled to in the normal way and then linked as described.
Options :

1. # Having created a new routine it should

2. ¥ be compiled to in the normal way

3. #* and then linked as described.

4. # No Error

Question Number : 123 Question Id : 7773932827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

Having created a new routine it should be compiled to in the normal way and then linked as described.
Options :

1. ¥ Having created a new routine it should

2. % be compiled to in the normal way

3. # and then linked as described.

4. % No Error

Question Number : 124 Question Id : 7773932828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :



1. # The position of landowners was less affected by thirteenth-century changes in law than these people customarily have recognized.
2. % The realm of law labeled public by these medievalists ultimately had greater political implications than that labeled private.
3. # The amount of wealth controlled by medieval women was greater than these medievalists have recorded.

4. ¥ The distinction made by these medievalists between private law and public law fails to consider some of the actual legal case of the period.

Question Number : 124 Question Id : 7773932828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :

1. # The position of landowners was less affected by thirteenth-century changes in law than these people customarily have recognized.
2. % The realm of law labeled public by these medievalists ultimately had greater political implications than that labeled private.

3. # The amount of wealth controlled by medieval women was greater than these medievalists have recorded.

4. ¥ The distinction made by these medievalists between private law and public law fails to consider some of the actual legal case of the period.

Question Number : 125 Question Id : 7773932829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :

1. ¥ Edwards differed from other artists of his time both in his aesthetic techniques and in his desire to meet the demands of the marketplace.
2. ¥ Edwards was an entrepreneur whose artistic enterprise was not limited to the paintings he actually painted himself.

3. ¥ Edward was one of first artists to develop the notion of a work of art as a commodity that could be sold in an open marketplace.

4. % Edwards’s artistic achievement cannot be understood solely in terms of decisions he made on the basis of what would sell in the
marketplace.

Question Number : 125 Question Id : 7773932829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.



Options :

1. # Edwards differed from other artists of his time both in his aesthetic techniques and in his desire to meet the demands of the marketplace.
2. % Edwards was an entrepreneur whose artistic enterprise was not limited to the paintings he actually painted himself.

3. ¥ Edward was one of first artists to develop the notion of a work of art as a commodity that could be sold in an open marketplace.

4. ® Bdwards’s artistic achievement cannot be understood solely in terms of decisions he made on the basis of what would sell in the
marketplace.

Question Number : 126 Question Id : 7773932830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

If your thoughts are good and creative than you not need to worry about circumstances.
Options :

1. ¢ then you don't need

2. % than you doesn’t need

3. # than you didn’t needs

4. ® No improvement

Question Number : 126 Question Id : 7773932830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

If your thoughts are good and creative than you not need to worry about circumstances.
Options :

1. ¥ then you don't need

2. % than you doesn’t need

3. % than you didn’t needs

4. ¥ No improvement



Question Number : 127 Question Id : 7773932831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Three police constables have received awards for their bravery by deal with dangerous situations.
Options :

1. # at dealing for

2. ¥ in dealing with

3. % on deal with

4. ¥ No improvement

Question Number : 127 Question Id : 7773932831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Three police constables have received awards for their bravery by deal with dangerous situations.
Options :

1. * at dealing for

2. % in dealing with

3. # on deal with

4. ¥ No improvement

Question Number : 128 Question Id : 7773932832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Brilliant breakthroughs can emerge by _the result of hard work and disciplined effort.
Options :



1. # by virtue with
2. * nevertheless
3. % as aresult of

4. ¥ No improvement

Question Number : 128 Question Id : 7773932832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Brilliant breakthroughs can emerge by _the result of hard work and disciplined effort.
Options :

1. # by virtue with

2. # nevertheless

3. % as aresult of

4. ¥ No improvement

Question Number : 129 Question Id : 7773932833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

She is very much a bridge between the old and the new, and very valuable for that reason.
Options :

1. # old and the new

2. # the old and new

3. % old and new

4. ¥ No improvement

Question Number : 129 Question Id : 7773932833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

She is very much a bridge between the old and the new, and very valuable for that reason.
Options :

1. # old and the new

2. # the old and new

3. % old and new

4. ¥ No improvement

Question Number : 130 Question Id : 7773932834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

living in wealth and comfort, the family was far from happy.
Options :
1. ¥ Despite
2. % In spite
3. ¥ Because
4. % Unless

Question Number : 130 Question Id : 7773932834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

living in wealth and comfort, the family was far from happy.
Options :
1. ¥ Despite
2. % In spite

3. # Because



4. % Unless

Question Number : 131 Question Id : 7773932835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I sleeping well the last few nights and my mood has been pretty good.
Options :

1. * have being

2. ¥ have been

3. * had being

4. % has been

Question Number : 131 Question Id : 7773932835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I sleeping well the last few nights and my mood has been pretty good.
Options :

1. % have being

2. ¥ have been

3. % had being

4. % has been

Question Number : 132 Question Id : 7773932836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

My prediction with the pizza was right and ten minutes after it came, she
Options :



1. * arrive
2. * arrives
3. % arrived

4. ® arriving

Question Number : 132 Question Id : 7773932836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

My prediction with the pizza was right and ten minutes after it came, she
Options :

1. # arrive

2. # arrives

3. % arrived

4. % arriving

Question Number : 133 Question Id : 7773932837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

It is a fitting tribute from a daughter to her mother her 75th birthday.
Options :

1. % at

2. % in

3. % by

4.9 on

Question Number : 133 Question Id : 7773932837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



It is a fitting tribute from a daughter to her mother her 75th birthday.
Options :

1. % at

2. % in

3. % by

4. ¥ on

Question Number : 134 Question Id : 7773932838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. The WHO’s International Health Regulations (IHR)-2005

B. a multi-sectorial, multidisciplinary, multi-institutional and multi-specialty
C. advocate ‘One Health’ approach, which is nothing but

D. coordination in all aspects of response to outbreaks

Options :

1. ¥ ACBD
2. % ACDB
3. % ABCD
4. ¥ ADCB

Question Number : 134 Question Id : 7773932838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. The WHO’s International Health Regulations (IHR)-2005

B. a multi-sectorial, multidisciplinary, multi-institutional and multi-specialty
C. advocate ‘One Health’ approach, which is nothing but

D. coordination in all aspects of response to outbreaks

Options :
1. ¥ ACBD



2. % ACDB
3. ¥ ABCD
4. % ADCB

Question Number : 135 Question Id : 7773932839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. that refuses to change despite decades of grappling

B. In making spitting in public spaces punishable with fines,
C. with tuberculosis as a public health challenge

D. the government has gone on the offensive against a habit

Options :

1. % BDCA
2. ¥ BDAC
3. ¥ BACD
4. % BCAD

Question Number : 135 Question Id : 7773932839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. that refuses to change despite decades of grappling

B. In making spitting in public spaces punishable with fines,
C. with tuberculosis as a public health challenge

D. the government has gone on the offensive against a habit

Options :

1. % BDCA
2. ¥ BDAC
3. ¥ BACD
4. % BCAD



Question Number : 136 Question Id : 7773932840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Further studies are underway to understand if and how different animals could be affected by Covid-19 virus.

B. It would always be better to take certain precautions to avoid contact between Covid-19 positive patients and pet animals.
C. There are isolated cases of pet animals having Covid-19 virus.

D. There is no credible evidence that dogs or cats and other domestic animals are playing a role in the spread.

Options :

1. * CABD
2. % CBDA
3. ¥ CDAB
4. % CDBA

Question Number : 136 Question Id : 7773932840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Further studies are underway to understand if and how different animals could be affected by Covid-19 virus.

B. It would always be better to take certain precautions to avoid contact between Covid-19 positive patients and pet animals.
C. There are isolated cases of pet animals having Covid-19 virus.

D. There is no credible evidence that dogs or cats and other domestic animals are playing a role in the spread.

Options :

1. * CABD
2. % CBDA
3. ¥ CDAB
4. % CDBA

Question Number : 137 Question Id : 7773932841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.



A. Many viruses which originated from animals have caused pandemics like influenza HINI1, avian flu (influenza H5N1), SARS (SARS-Cov-1)
and MERS-CoV.

B. Out of these around 60% are zoonotic.

C. Out of the total new emerging pathogens identified during the last three decades, around 75% originated from animals.

D. The total human pathogens identified till today are 1,407.

Options :

1. ¥ DABC
2. % DBAC
3. ¥ DCBA
4. ¥ DBCA

Question Number : 137 Question Id : 7773932841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Many viruses which originated from animals have caused pandemics like influenza HIN1, avian flu (influenza HSN1), SARS (SARS-Cov-1)
and MERS-CoV.

B. Out of these around 60% are zoonotic.

C. Out of the total new emerging pathogens identified during the last three decades, around 75% originated from animals.

D. The total human pathogens identified till today are 1,407.

Options :

1. # DABC
2. % DBAC
3. ¥ DCBA
4. ¥ DBCA

Question Number : 138 Question Id : 7773932842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

Her black hair was pulled into two cute pigtails, and she smiled shyly.

The of a winding river is just like the tortuous path life sometimes takes.



Options :

1. ¥ coarse, course
2. % coarse, coarse
3. % course, coarse

4. ® course, course

Question Number : 138 Question Id : 7773932842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

Her black hair was pulled into two cute pigtails, and she smiled shyly.
The of a winding river is just like the tortuous path life sometimes takes.
Options :

1. % coarse, course
2. % coarse, coarse
3. # course, coarse

4. ® course, course

Question Number : 139 Question Id : 7773932843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Extol
Options :

1. # Neglect
2. ¥ Acclaim
3. % Slander
4. # Dissuade

Question Number : 139 Question Id : 7773932843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Extol
Options :

1. % Neglect
2. ¥ Acclaim
3. % Slander
4. # Dissuade

Question Number : 140 Question Id : 7773932844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

One of the basic of a democratic, liberal country is the decentralization of power.
New York city remains the port of entry and site of settlement for new Jewish immigrants.
Options :

1. # principle, principle
2. % principal, principle
3. ¥ principle, principal

4. % principal, principal

Question Number : 140 Question Id : 7773932844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

One of the basic of a democratic, liberal country is the decentralization of power.

New York city remains the port of entry and site of settlement for new Jewish immigrants.
Options :



1. #* principle, principle
2. * principal, principle
3. % principle, principal

4. * principal, principal
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Question Number : 141 Question Id : 7773932845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Exaggerate
Options :

1. ¥ Reprimand
2. % Deprive

3. # Levitate
4. ¥ Understate

Question Number : 141 Question Id : 7773932845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Exaggerate
Options :

1. # Reprimand
2. % Deprive

3. # Levitate
4. ¥ Understate

Question Number : 142 Question Id : 7773932846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Criminate
Options :

1. ¥ Vindicate
2. # Retract
3. % Falsify



4. % Reiterate

Question Number : 142 Question Id : 7773932846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Criminate
Options :

1. ¥ Vindicate
2. % Retract
3. # Falsify
4. % Reiterate

Question Number : 143 Question Id : 7773932847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Aggressive

2. ¥ Intolerent

3. # Practical

4. % Decisive

Question Number : 143 Question Id : 7773932847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Aggressive

2. ¥ Intolerent

3. # Practical



4. % Decisive

Question Number : 144 Question Id : 7773932848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. % Matrimony

2. # Exclusive

3. ¥ Bilaterale

4. #* Indifferent

Question Number : 144 Question Id : 7773932848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Matrimony

2. ®% Exclusive

3. ¥ Bilaterale

4. % Indifferent

Question Number : 145 Question Id : 7773932849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Differentiate

2. # Instrumental

3. # Productivity

4. % Reminiscient



Question Number : 145 Question Id : 7773932849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Differentiate

2. # Instrumental

3. # Productivity

4. % Reminiscient

Question Number : 146 Question Id : 7773932850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Evolutionery

2. % Momentarily

3. % Gregarious

4. % Maleficent

Question Number : 146 Question Id : 7773932850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Evolutionery

2. % Momentarily

3. % Gregarious

4. ¥ Maleficent

Question Number : 147 Question Id : 7773932851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Options :

1. # To be pleasant
2. ¥ To be watchful
3. % To be reliable

4. # To be supportive

Question Number : 147 Question Id : 7773932851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Options :

1. # To be pleasant
2. ¥ To be watchful
3. % To be reliable

4. # To be supportive

Question Number : 148 Question Id : 7773932852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

I'll end up going bananas if I have to work in this cubicle for one more day!
Options :

1. * To be motivated

2. % To go bankrupt

3. ¥ To become crazy

4. % To deny permission



Question Number : 148 Question Id : 7773932852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

I'll end up going bananas if I have to work in this cubicle for one more day!
Options :

1. % To be motivated

2. # To go bankrupt

3. % To become crazy

4. # To deny permission

Question Number : 149 Question Id : 7773932853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

We seemed to be getting along just fine, but she suddenly bared her teeth when I brought up religion.
Options :

1. % To crack a joke

2. % To lie about a situation

3. # To behave irrationally

4. ¥ To display angry reaction

Question Number : 149 Question Id : 7773932853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

We seemed to be getting along just fine, but she suddenly bared her teeth when I brought up religion.
Options :

1. # To crack a joke



2. # To lie about a situation
3. % To behave irrationally

4. ¥ To display angry reaction

Question Number : 150 Question Id : 7773932854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

In front of one’s nose
Options :

1. ¥ Immediately obvious
2. # In the same manner
3. # In the neighborhood
4. % Lacking sincerity

Question Number : 150 Question Id : 7773932854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

In front of one’s nose
Options :

1. ¥ Immediately obvious
2. % In the same manner
3. #* In the neighborhood

4. % Lacking sincerity

Question Number : 151 Question Id : 7773932855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



A beam in one’s eye.
Options :

1. % A troublesome child
2. % A fault within oneself
3. # A persistent problem
4. % A thing that annoys

Question Number : 151 Question Id : 7773932855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

A beam in one’s eye.
Options :

1. # A troublesome child
2. ¥ A fault within oneself
3. # A persistent problem
4. # A thing that annoys

Question Number : 152 Question Id : 7773932856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

An animal capable of living on both land and sea.
Options :

1. # Terrestrial

2. % Arboreal

3. % Amphibian

4. ¥ Aquatic

Question Number : 152 Question Id : 7773932856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

An animal capable of living on both land and sea.
Options :

1. % Terrestrial

2. % Arboreal

3. ¥ Amphibian

4. ¥ Aquatic

Question Number : 153 Question Id : 7773932857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The science of the origin and development of the universe.
Options :

1. # Dermatology

2. % Hematology

3. % Anthology

4. ¥ Cosmology

Question Number : 153 Question Id : 7773932857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The science of the origin and development of the universe.
Options :

1. * Dermatology

2. % Hematology

3. % Anthology

4. ¥ Cosmology



Question Number : 154 Question Id : 7773932858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Passionate enthusiasm for collecting and possessing books.
Options :

1. ¥ Bibliomania

2. # Pyromania

3. % Egomania

4. # Kleptomania

Question Number : 154 Question Id : 7773932858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Passionate enthusiasm for collecting and possessing books.
Options :

1. ¥ Bibliomania

2. % Pyromania

3. ¥ Egomania

4. # Kleptomania

Question Number : 155 Question Id : 7773932859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The action of killing a king.
Options :

1. % Senicide



2. ¥ Regicide
3. #® Genocide

4. % Uxoricide

Question Number : 155 Question Id : 7773932859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The action of killing a king.
Options :

1. * Senicide

2. ¥ Regicide

3. # Genocide

4, % Uxoricide

Sub-Section Number : 2
Sub-Section Id : 777393142
Question Shuffling Allowed : Yes

Question Id : 7773932860 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the passage carefully and select the best answer to each question out of the given four alternatives.

Radioactive decay is the process by which an unstable atomic nucleus loses energy by radiation. A material containing unstable nuclei is
considered radioactive. Three of the most common types of decay are alpha decay, beta decay, and gamma decay, all of which involve emitting
one or more particles or photons. The weak force is the mechanism that is responsible for beta decay. Radioactive decay is a stochastic (i.e.
random) process at the level of single atoms.

The half-lives of radioactive atoms have a huge range; from nearly instantaneous to far longer than the age of the universe. The decaying nucleus
is called the parent radionuclide, and the process produces at least one daughter nuclide. Except for gamma decay or internal conversion from a
nuclear excited state, the decay is a nuclear transmutation resulting in a daughter containing a different number of protons or neutrons (or both).
When the number of protons changes, an atom of a different chemical element is created.

By contrast, there are radioactive decay processes that do not result in a nuclear transmutation. The energy of an excited nucleus may be emitted



as a gamma ray in a process called gamma decay, or that energy may be lost when the nucleus interacts with an orbital electron causing its
ejection from the atom, in a process called internal conversion. Another type of radioactive decay results in products that vary, appearing as two
or more "fragments" of the original nucleus with a range of possible masses. This decay, called spontaneous fission, it happens when a large
unstable nucleus spontaneously splits into two (or occasionally three) smaller daughter nuclei, and generally leads to the emission of gamma rays,
neutrons, or other particles from those products.

Sub questions

Question Number : 156 Question Id : 7773932861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The decaying nucleus is called —
Options :

1. # stochastic

2. % parent radionuclide

3. # nuclear transmutation

4. % weak force mechanism

Question Number : 157 Question Id : 7773932862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is the exception of nuclear transmutation?
Options :

1. ¥ gamma decay

2. # alpha decay

3. % Dbeta decay

4. # both alpha and beta decay

Question Number : 158 Question Id : 7773932863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is a stochastic process?

Options :

1. % a random process of decaying at the level of single atoms

2. % significant number of identical atoms



3. % a constant decay of a particle
4. # half life of a particle

Question Number : 159 Question Id : 7773932864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is not among the most common types of radioactive decay?
Options :

1. # alpha

2. ¥ gamma

3. % stochastic

4. % beta

Question Number : 160 Question Id : 7773932865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What mechanism is responsible for beta decay?
Options :

1. ¥ weak force

2. # strong force

3. % stochastic

4. * orientation

Question Id : 7773932860 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the passage carefully and select the best answer to each question out of the given four alternatives.

Radioactive decay is the process by which an unstable atomic nucleus loses energy by radiation. A material containing unstable nuclei is
considered radioactive. Three of the most common types of decay are alpha decay, beta decay, and gamma decay, all of which involve emitting
one or more particles or photons. The weak force is the mechanism that is responsible for beta decay. Radioactive decay is a stochastic (i.e.
random) process at the level of single atoms.

The half-lives of radioactive atoms have a huge range; from nearly instantaneous to far longer than the age of the universe. The decaying nucleus



is called the parent radionuclide, and the process produces at least one daughter nuclide. Except for gamma decay or internal conversion from a
nuclear excited state, the decay is a nuclear transmutation resulting in a daughter containing a different number of protons or neutrons (or both).
When the number of protons changes, an atom of a different chemical element is created.

By contrast, there are radioactive decay processes that do not result in a nuclear transmutation. The energy of an excited nucleus may be emitted
as a gamma ray in a process called gamma decay, or that energy may be lost when the nucleus interacts with an orbital electron causing its
ejection from the atom, in a process called internal conversion. Another type of radioactive decay results in products that vary, appearing as two
or more "fragments" of the original nucleus with a range of possible masses. This decay, called spontaneous fission, it happens when a large
unstable nucleus spontaneously splits into two (or occasionally three) smaller daughter nuclei, and generally leads to the emission of gamma rays,
neutrons, or other particles from those products.

Sub questions

Question Number : 156 Question Id : 7773932861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The decaying nucleus is called:

Options :

1. # stochastic

2. % parent radionuclide

3. # nuclear transmutation

4. % weak force mechanism

Question Number : 157 Question Id : 7773932862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is the exception of nuclear transmutation?
Options :

1. ¥ gamma decay

2. # alpha decay

3. % beta decay

4. # both alpha and beta decay

Question Number : 158 Question Id : 7773932863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is a stochastic process?

Options :

1. ¥ a random process of decaying at the level of single atoms
2. % significant number of identical atoms

3. % a constant decay of a particle

4. % half life of a particle

Question Number : 159 Question Id : 7773932864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is not among the most common types of radioactive decay?
Options :

1. # alpha

2. % gamma

3. % stochastic

4. ® beta

Question Number : 160 Question Id : 7773932865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What mechanism is responsible for beta decay?
Options :

1. ¥ weak force

2. # strong force

3. % stochastic

4. % orientation
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Question Number : 161 Question Id : 7773932866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefefed o 9 e Weg | Y BT T BifoTL-

Options :
1. % 3b
2. %

3. % qh
4. ¥ b

Question Number : 161 Question Id : 7773932866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAEfafad & 3 difh e Weg B UTT BT I HITTT-

Options :
1. % 3P
2. % P

3. % dlh
4, ¥ 3h

Question Number : 162 Question Id : 7773932867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfefe # @ foa arer 3«31 Ve [ARW01 & 0 H Tgad gl g 2
Options :

1. % 33T, 3T TR 37|

2.+ U WY 9gd BT 8|

3. % 331§ HHA 37T 31|

4. % U 3] far Sl 3T 7T

Question Number : 162 Question Id : 7773932867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRed o 9 fory areg & <33T Weg faRIw0r & 0 H Ugad gai g 2
Options :

1. % 3T, 3T R S|

2. ¢ U WM §gd B8

3. % 33T g HHA 3 371 WY

4. % 39 ST fHar ST 31T |

Question Number : 163 Question Id : 7773932868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fe=at quimrer § 3f 3iR af fAAfRad 7§ fog UsR & quf g2
Options :

1. ¢ 3ANTATE

2. % SOSH

3. % Gg&Ier

4, % IR

Question Number : 163 Question Id : 7773932868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fg=<t qotTar & s 3R 31 FEfied & 9 ford TR & 9 g2
Options :

1. ¢ 3{ANTaTE

2. % oM

3. % Gg&IER

4, % IR

Question Number : 164 Question Id : 7773932869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFeffead ¥ 9 wreg fdfea # $1H-91 A &2
Options :

1. ¥ 4§ 9A™

2. ¢ dgdife 9a™

3. % 3fUIHIT THE

4. % fgrqury

Question Number : 164 Question Id : 7773932869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frfeiad § @ weg e § &1H9-91 A 32
Options :

1. ¥ gg gAY

2. ¢ dgdife 9a™

3. % 3[gUTHId IH™

4. % fggury

Question Number : 165 Question Id : 7773932870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"Tiet Weg B AEfed o 9 oH-d ¥R E?
Options :

1. % o] T

2. % YHg didh

3. ¥ g dldd

4. % Sl aTeIh

Question Number : 165 Question Id : 7773932870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"Il Weg B mfoiad & 9 oH-d ¥ g2
Options :

1. % SHfeR] T

2. % JHg dld

3. ¥ g dldd

4. % I arIh

Question Number : 166 Question Id : 7773932871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"SR Teq 1 FEfoad & @ &H-a1 9 e w8l 2



Options :

1. % 3R+ 349
2. ¥ RN+ 3HY
3. % 3T + 3
4. % TR+ g9

Question Number : 166 Question Id : 7773932871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"R V&G BT (HTRId § 8 HH-91 Y fawse 98l 82
Options :

1. % 3N + I

2. ¥ ARM+3H9

3. % 3T+ 3"

4. % 3=+ 3{RE

Question Number : 167 Question Id : 7773932872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e # 9 SaerIc et 71 ?
Options :

1. %* dugd Usg

2. % dcH Rsq

3. % 3fdpR] Tsg

4. ¢ R g

Question Number : 167 Question Id : 7773932872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfRed O ¥ "SaeRIc" Xeg 1 62

Options :




1. #® dagd Rsq
2. #® dgH Ysq
3. % JfdHRY Usq
4. ¢ R qsq

Question Number : 168 Question Id : 7773932873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"e[UE A" T ey fAfeiad § 3 forg U 3 /2
Options :

1. % SR

2. % 3g

3. ¢ SSTYHIY]

4. ® T3l gt

Question Number : 168 Question Id : 7773932873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"¢ " &1 dae fFArfaRad & § fog Hwa g2
Options :

1. % G

2. % Jg

3. ¥ SOTYHIY]

4. % T3l gl

Question Number : 169 Question Id : 7773932874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfeRad 4 9 2reg & Yg U T I PHifor-

Options :
1. = 3T




2. % Y3
3. ¢ g
4. % Saf

Question Number : 169 Question Id : 7773932874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEffed O T 2eg & Y U o1 I DIfOTT-
Options :

1. % Y3

2. % ga3ff

3. v g

4. % a1

Question Number : 170 Question Id : 7773932875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o @ fou 710 wreg-gm & wet 81 o1 g HIfTL-
Options :

1. % TaT - Fde

2. ¢ IO - 331G

3. % Toh 4R - AR BT

4. % 3TeBIG - FoIH

Question Number : 170 Question Id : 7773932875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmferad & O fau 7T Wreg-gm & 98 ord-2g &1 99 Hifore-



Options :

1. % gaT - HdaA

2. % oI - AHTdTqH

3. % TS X - IRI BT
4, % AHl=3Tq - YoIHI

Question Number : 171 Question Id : 7773932876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R & & &ifors" o1 e T #9122
Options :

1.« RMRAd

2. % e

3. % gH

4. % AN

Question Number : 171 Question Id : 7773932876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rrefifa & Q eifors" @1 e veg Sie-ar 2
Options :

1. ¢ YRdd

2. % f4deA

3. % gH

4. % 3

Question Number : 172 Question Id : 7773932877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frEfeRId B 8 78 Td R 4T & YeY H SRiTTd/aH Teg 1 Ig Biford-

Options :




1. % 3fd
2. % B
3. % P
4. ¢ 4R

Question Number : 172 Question Id : 7773932877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTfeTRad & ¥ T Td RITAT HTd & &Y | ST/ SH Req BT T BifoTl-
Options :

1. % 3fd

2. % g™

3. % Qb

4. 4R

Question Number : 173 Question Id : 7773932878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAE=faRad O 9 fau e arqa o o T 2reg &1 99+ Hifore-
SAISR H UTed ¢ -

Options :
1. % fomdt
2. ¢ Ry
3. % GO
4. % fgaa

Question Number : 173 Question Id : 7773932878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAefaRad & 9 foT U a1 & ol T Wieg, &1 994 Sifore-



SRR H YT & -
Options :

1. % forreht

2. ¢ Ry

3. % gufa

4, % fgsar

Question Number : 174 Question Id : 7773932879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefefad o ¥ "deuger &1 TaigaTd! Teg HIH-91 82
Options :

1. ® JGHRR

2. % HER

3. ¥ PRAD

4. % Hhdl

Question Number : 174 Question Id : 7773932879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & ¥ peuger o1 Tafaar Tsg BIH-91 32
Options :

1. % TOHRR

2. % SN

3. ¥ AL

4, % Jhd

Question Number : 175 Question Id : 7773932880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frferRard # & 3rgLe aciit aTel Weq BT TG HIfSTL-
Options :

1. % UidieR

2. ¥ WAlfbd

3. % GienTo

4. % GdEH

Question Number : 175 Question Id : 7773932880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o ¥ 3RS adH aTel Ueg o1 T BHIfor-
Options :

1. % UidisR

2. ¥ IRalfhd

3. % gigrTor

4. % QIHdeH

Question Number : 176 Question Id : 7773932881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffeRad # 9 Iuged Tsc &1 99 BifeTL-
fSTeepT GH 9gd BHid Bl |

Options :
1. % affrd
2. % qHUN
3. ¢ GaHa

4. % giayeH

Question Number : 176 Question Id : 7773932881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

freferRad # & Suge Wsg 1 I BT

ST GHA §gd i3 Bl |
Options :

1. % gffd

2. % quuiig

3. ¥ e

4. % gfaueHd

Question Number : 177 Question Id : 7773932882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hdl RS Bl fgHfad fas FAfaRd A A Pa-ar e

Options :

1. % W

2.9

3. % P, P, B,
4% B T

Question Number : 177 Question Id : 7773932882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hdl RS o1 faHfa o FfafRd A A sa-ar g

Options :

1% P

2. v

3. % @, B, @, W, T, W
4% T

Question Number : 178 Question Id : 7773932883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

= fear man Fafefad 7 3 feg sra w182

T it T | HR ST E
Options :

1. % TgegHe 4d

2. % R Yd

3. % R Yid®d dld
4. ¢ A Yd

Question Number : 178 Question Id : 7773932883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR oo Reffaa A A frg sra w182

7 3aft W W R ST R
Options :

I. % BgeqHg id

2. % U Yd

3. % g Hidwd HId
4. ¢ A Yd

Question Number : 179 Question Id : 7773932884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAeferRad o 9 i <req &1 gfewiT s o1 g2
Options :

1. % el

2. R

3. % AT Aid

4. % iferan




Question Number : 179 Question Id : 7773932884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfeRad o 9 <fie <req &1 gfcwiT <Tsg o1 SN2
Options :

1. % el

2. R

3. % AT Aid

4. % iferan

Question Number : 180 Question Id : 7773932885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAmfeIRad B ¥ 9T & UHR &1 I8 HITOC-
forr gRT FTgex R HH fHar S g

Options :

1. ® HgardA
2. ¥ HHATA
3. % JHHATH
4. % H[ddrq

Question Number : 180 Question Id : 7773932885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fferRad # A o & UbR 1 TG BifviL-

faoTg GRT H1geR R S fha1 ST g |
Options :

1. % Hqdred
2. ¢ HHATH




3. % 3fHHITH

4. % Y[ddiy
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Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 777393144
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7773932886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fArfeRad 4 @ dgaa- Teg &1 9T Pifor-
Options :
1. v dld
2. % HIdT
|
4. % g

Question Number : 181 Question Id : 7773932886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafed o T Igaad s &1 9 Hifor-
Options :

1. ¢ &1

2. % HIcll

3. % gaT

4. % YT

Question Number : 182 Question Id : 7773932887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfRed 7 ¥ R arag &1 99 BHifole-
Options :

1. % IRY B 37 I1d W T o3d g3 |

2. % N Y U &1 9gd g1 g5 |

3. ¥ TR A ST T HI G g

4. % T YSE U T4 AT AHR AT B

Question Number : 182 Question Id : 7773932887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfRad B 9 STdTed dre T Ig- PHifort-




Options :

1. #% IRY H! 3T I1d W J! o3d g3 |
2. % 3O ¥ A &1 9gd 81 g
3. ¢ TR A 3 T B! ST 8

4. % R GG U - TR AHR 3Tl 5|

Question Number : 183 Question Id : 7773932888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFEfaRad ¥ O 919 & TSR &1 99 BHIfoTL-

SId b1 BICT YT Td Tfdval dgd deidl Tl
Options :

1. ® I3 dI-

2. ® FYad a1

3. ¢ fog a1y

4. % fafY arey

Question Number : 183 Question Id : 7773932888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR O 9§ 1 & UHR BT IhH DIfOTL-

SId b1 BT YT a9 HTsfabel agd derdl Tl
Options :

1. ® I3 dI-

2. % Igod aIR

3. ¢ Thg a1

4, % fafg ar

Question Number : 184 Question Id : 7773932889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fEfifed B ¥ SH-91 TYSy dreed H1 IE0 g 82
Options :

1. ® JoRI

2. #® AUl

3.¥dg

4. % qH

Question Number : 184 Question Id : 7773932889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fRed # ¥ HH-91 He9Y®Y akId &1 3ETeR0 ol 82
Options :

1. ® dWRI

2. ® HUdDI

3. dg

4, % qH

Question Number : 185 Question Id : 7773932890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fferRerd # & g el Tt aTerd 1 =g HITeTe-
Options :

1. % Hfgar fie=< ot Mt g1

2. ¢ BRI aY g4 gt 31T &7 T o |

3. % QXD BT MH Y- YT gl 8|

4. % B 7 TSHI Bl g5 |

Question Number : 185 Question Id : 7773932890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fEfRed & @ Y a1t a1et a1y b1 99 HifoTe-
Options :

1. % pfadm gt BT Mefi 31

2. v BRI 98 g4 gdt 3117 &1 el |

3. % QXAD] BT WdHY URTIITHS Il ¢ |

4. % AHR A YSH! Bl IR |

Question Number : 186 Question Id : 7773932891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HETART "Hiol ARAT" &1 fAfeRad & 3 31 o1 g2
Options :

1. % o o § g3} O o S

2. % T &t S H Aeg Sl

3. % 3[CHT-3(CHT dXg &I Aol Sie-T|

4. ¢ Tt & 990 ®H &I formsT|

Question Number : 186 Question Id : 7773932891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR "Hioft ARAT &1 fFfaRad o 9 o srf g2
Options :

1. % o om o g3 avg a1 S|

2. % {5 ot 1§ Heg S

3. % 3[C-3{QT e Pl Aol Sile|

4. ¢ Tl & §9d B & foms|

Question Number : 187 Question Id : 7773932892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=ferRad & I fod gerar &1 oif "HTgd 811" 82



Options :

]. % gAP S H

2. % FAXYSHI ol
3. ¥ U diedd

4. % g T BT

Question Number : 187 Question Id : 7773932892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafad o @ frg qeiar &1 3 "Jdd g 82
Options :

1. % §Td &1 §1d H

2. % §AXYSHI ol

3. ¢ HUIA Dicd

4. % g e B

Question Number : 188 Question Id : 7773932893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfoRaa & & getarT gt &1 Arel g1 &1 R o1 g2
Options :

1. fRrgd

2. % g Bl

3. % 1Y M

4. % @G B

Question Number : 188 Question Id : 7773932893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefoRad o & gerarT gt &1 o g &1 o o g2

Options :



1. v RgE

2. % gAaH g

3. % PHIY 3T

4, % -Gl HAT

Question Number : 189 Question Id : 7773932894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefRed & @ oH-31 fdw ey Aieifad/ggmar &1 yafid ¥U 82
Options :

1. % ggl &1 Uld Ui, T8l & didl a1

2. % Ygl &1 ad UMl S8l ol ardt S|

3. ¢ STg1 &1 Uid U, 981 &1 i aT |

4. ® ﬁﬁﬁﬁ,ﬁﬁﬁﬁﬁ|

Question Number : 189 Question Id : 7773932894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fafad # @ HH-u1 fased dieifad/ggTaR &1 Jaferd ¥4 g2
Options :

1. % g1 &1 Uld U1, Ig1 &1 aiet a1 |

2. % YT DI <d UL, S8l bl aidd a=iT |

3. ¢ g1 &1 Uld U1, 981 &I &idt a1 |

4. % STg1 BT U1 Uld, I8 BT a1 aTof |

Question Number : 190 Question Id : 7773932895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ApIfa FITHT HTH I B B, 3R R I ST Frol BT iR & I @ e g2
Options :

1. % fg! 59 H &1 3 Hd 81, I1 7 81 a9 +t 98 I WAdT I Hdl & | TR-3guat smet off 3T St § R gHhd1 7




2. % oI BTH BT 31N 3R SIHT I 9 BT 81 3 TR-3FHA! 3MeHl & S JiY 1|
3. % ! forg T BT 11T 3IR U o1 BIdT &, I8 I TRAdl Y PR Ul ¢ | TR-3IHaT SeHt +ff I oree 9 R gl g
4. ¢ f9®! S ST BT 31T 3R 3TH BIdT 8, T8 S IR Y B dl § | TR-3HAT SEH! I g1 HR Tl

Question Number : 190 Question Id : 7773932895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arpifad "FTI®T HTH I B! B, 3R B dl ST dol" HT fAEfeRad 3 &1 37 g2

Options :

1. % fore! for T8 &1 a8, A1 81 a9 HT 98 S WRAdT I HR1 ¢ | TR-SHaT 3! 1 S 1 I FHR ol g

2. % ORI BT &1 31T 3R 3IHT T 7 BT 81 IY TR-SHdT 3t &t e i 1|

3. % forgep! for T/ BT 310 3R 3IHT el 81dT 7, I8 I WAl I &R UTdl & | TR-gHa et +ff I 3y ¥ R gohdl g
4. ¢ TOD! 59 B &7 31ATT 3R 3T BIdT &, T8 I IRAAT B AT & | TR-FHAT 3MTeHT I Tt R TehaT |

Question Number : 191 Question Id : 7773932896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR & & e e T onf Rl ofery 29 el 3 9t @Y e1fY T B B
Options :

1. % ool faeet, 39 4 /s |

2. ¢ 5! S[cil, I &1 RR|

3. % TP B I DI BT

4. % TN A1E 81, I &1 W Berradl|

Question Number : 191 Question Id : 7773932896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfafed ® @ foa deifad o s b safa &1 dier § 33 &1 g1 ugar gidi 82
Options :

1. % el foeed, S0 A |G |

2. ¢ Forga! Sgil, 3 &1 RR|



3. % fge 11 I B B
4. % T TeR B, I &t IR Traran|

Question Number : 192 Question Id : 7773932897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foiRad § @ o-31 fab ey Awifad &1 vaferd ©4 82
Options :

1. % Th I YISI T3, Tl DI T UgaHi T8 |

2. % Th B glel T8, Pl DI Al 3 |

3. % Toh DI il T8, Pl DI B! UgarHl 5|

4. ¥ TH P} glol 115, Tl B! ofld YgaHl 5|

Question Number : 192 Question Id : 7773932897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ SH-a1 e dipifa &1 y=fed U 82
Options :

1. % Toh &I YIS T3, T DI T UgaHi TR |

2. % TH I BISI T8, Pl P A IS |

3. % T DI gIS! TS, P B B! Ugd TS |

4. TH DI g1 TS, Tl DI ofld GgaT! T3 |

Question Number : 193 Question Id : 7773932898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffefad # 9 forg () &1 7 Jdrsa-
Options :

1. ¢ JufdH g

2. % 3G g

3. % 3fcufa’™ g



4. ® R g

Question Number : 193 Question Id : 7773932898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAferfaa | 9 fas () &1 9 9d183-
Options :

1. ¢ JufoRH g

2. % 3fgfaH g

3. % 3fcufaR™ g

4. % fauRo g

Question Number : 194 Question Id : 7773932899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfaRad o § fg fdeea o form-frgt &1 wanT we 1) fosan mar g2
Options :

1. # BT ! Agdd HRT TAT|

2. % O — 3MR, 31H, YR

3. ¢ YRA W § oS : set Al 81

4. % ISV H BA U BId &

Question Number : 194 Question Id : 7773932899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=t O 9 ford faoed & faRm-Fargt 1 wahT Wl et fosan T g2
Options :

1. % g ! g ART T

2. % S — 3R, 3M1H, YTl

3. ¢ HRA S H 9t - gt Afear &

4. % USYEH AU B B |




Question Number : 195 Question Id : 7773932900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AR 7§ = fou e wy= 7 g fas o1 v =18 fvar mar 89

OGN A Hgl- "RYPd T Tl Feh TS, T S IR Fa— 4 A5 1"
Options :

1. % guifeR™ g

2. % Il g

3. % 3fcuioR™ g

4. ¢ g™ g

Question Number : 195 Question Id : 7773932900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fr=fafed o 9 - o e w3 forg fomg &1 w18t frar man @2
JATer™ A Hel- 'RYHd i TaT Feit TS, W07 S R Ja- 9 g 1"

Options :

1. % guifer™ g

2. % IRl g

3. % 3fcUfa’TH forg

4. ¢ SfgiaR fag

Sub-Section Number : 2

Sub-Section Id : 777393145
Question Shuffling Allowed : Yes

Question Id : 7773932901 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No
Question Numbers : (196 to 200)

IR TeIi=1 1 SATYde SHe R Ul & IR SIfeTe-

: Yes Group Comprehension Questions



-9 1 A yA-fauT A forar Sie, o g8 Tarvifass faue =8t &, Fifes U8 7™ &1 B WR ST § | $RIa Afad a1 W&

S -THT! T A0 A & [T I8 SMTa<ae & [ 81 Afdd B! &HdT 39 UIHT db [dbRid By, fSIY a8 39+ UR! 91 ST &1 gH1d WY
TR D | 39 RIgid & fauia Sfc-U1 &1 givd Rigid I8 & fob 399 I & U107 37aT S9! (ol &l &1 faaR fod fom, ger &t
fDPIUT, WY ACI-UdT & I TR, b SIER Ugd 9 g1 3fyfd TR & I9a A 81 779 &1 U= Fuiid & fear Srar g |

S-TyT U= BT 319Ul qa-eiRor € T8t Bl €, Sfcs T8 I siia-HR & fore Uep U=y # sty off it B, el &) 0= Sigugad a1 Srqaf
B & HRUI a8 Y@ IR oY | Yes i H g8 U vr: Sieft €, aifos ST -¢ie) &b ufehan @ d-iteh | fAReR fadr oiR Faft-aadft
{HIAT URT gial I8l §, FoITds HRUT TS P U1 URT G T BI HTIRIdHdl U8 ! § 3R Ife Ufagpa uRkfufadl & +ff iqsg o
3T URT IGa P a7 81 df 3 1078 YT AR o S{ATdT 1 IRT G ol 82 feg o Bt Sifa-gt ot of safad ot T u=m g
B 3 e S 8, ST IHHT g UM 81, ¥ &) 98 0 URTA 3| 39 UDPR U=M-gRacd Bt AT 7 I Sfa-1 YRa #
RITRY &1 UH YD d Y& BRI 1 s ¢

Sub questions

Question Number : 196 Question Id : 7773932902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T BT FEAfIRad H ¥ Iugad e &1 9a S|
Options :

1. % IR YrRI&on

2. % N U™ & ThAM

3. ¢ SIIfd-UYT &1 7

4. % SRISATRI

Question Number : 197 Question Id : 7773932903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIG TR & Ugad Xeg “HTI-fUdr § -1 T g2
Options :

1. ¥ 4§ 9AN

2. % S gdifg Ia™

3. % g aaNg

4, % 3foUdIHTd JHTY



Question Number : 198 Question Id : 7773932904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TR & TR SR Hfad AT T&H HTHE-THTS BT A0 B o o 3a=ae® g fs
Options :

1. % g0 fad & &M fasRid 9 &<, fSa9 98 S0+ U1 a1 &1 &1 g1 St A HR I |

2. % Y i ! &l faBHRId &<, FOR a8 3U= U= A1 SR &1 A1 Hfl 9 R b |

3. % g0 Afad Pt &Hdl fab R w3, R a8 31U+ IR &1 IA1d GIRI I HRI b |

4.« TH fGd & &l f[ahRad &<, fSaY 98 S0+ U= a1 S &1 g1 9l o I |

Question Number : 199 Question Id : 7773932905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEARIRIT T ¥ -1 /165 SHHIATT HI GArIard! -Tot 8?2
Options :

1. % gedr

2. ¥ Raadd

3. % 3

4. ® 3D

Question Number : 200 Question Id : 7773932906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SURIG TR & Ugad X ST Td WrHifae” # f=fafad # @ o $19-8 Uy &1 WanT far mar g2
Options :

1./ 3dTdEH

2. % 3 U4 Rd

3. % Rawds®

4. % TP TR

Question Id : 7773932901 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (196 to 200)

TR eI ST YD ST B Ui & IR iford-

SIIfa-5rT Y TS - fAHToR A/ foram wie, o g TmHifaes faurer =18t R, iifes g 7w &) 3 W 3neid § 1 el oufad a1 gam
- JHTS HT AT FHRA & AT T8 3awass § for 510 fad &1 a1 59 T ao [ iRid &<, o 98 39 U a1 Hd &1 g9 W4
X o | 39 Risid o fausia Sfa-ut &1 gt Rigid I8 ¢ o S8 I35 o UiRI&n SraT S4e! it & &1 faaR e fomr, gar &t
VDI, SR A1 & JrTioie TR, SR Ugd ¥ 81 3rifd THYRY & T8y 9 8 73 o1 U Fuifd & fear s 3 |
S-S O BT SIgut gafeiRor €t Tt dxalt €, Sfees A 1 Siia-HR & forg U U 7 sty off el 8, Wl &) =i Srguged o srafe
& HRUT a8 Y& IR WU | 1Y g H I8 RUf Ura: 311t €, s Ieh -48 &1 ufehar g ddb-ie | fFReR fasm ofik wit-waft
3T Rac gial gl &, o BRI HIS B 31 UM FGa $1 Saadhdl I8 Idhd! § 3R afe ufaga ulfeufaat & +f 7gsg o1
3T URT Saa &) WaaaAdl - gl dl $Hb 1o1T 4T TR & SfTal o1 IRT I8 Sl 82 feg o &1 Sfa-vr fopsdt +f safea &1 v o g
&1 START 81 aall 5, ST SUDT Ugd UM A 81, Y B 98 I8 TR ¢ | 39 YHR URM-URA &1 AT 7 S SIid-gdT YRd o
RIS} BT Teb U d Teef HRUT S+ 83 ¢

Sub questions

Question Number : 196 Question Id : 7773932902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STRIG TR &1 FEAfIRId & ¥ Sugad & &1 99+ Hifr|
Options :

1. % AT FRI&0T

2. % gAY & JHAM

3. ¢ SIfd-UYT &1 Hgd

4. % SRISATRY

Question Number : 197 Question Id : 7773932903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIG TR & Ugad Xeg “HI1-fUar § & 1H-91 TH™ 82
Options :

1. ¥ Gg 9HN

2. % qgdife gu™

3. % fgrauN




4. % 3JTATHG JA™

Question Number : 198 Question Id : 7773932904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TR & TR HRIA Hiad AT T&H HTHS-THTS BT A0 B o o 3a=ae® g fs
Options :

1. % Y ATGd B! & fABHRIA 7 B, oY 98 30+ U AT 1 &1 g HH T B Ah |

2. % Y i &1 &Hdl faBHRId &<, fo a8 30+ U= A1 SR &1 A1 Hfl 9 IR b |

3. % gH Afad Bt &Hdl fabRid o, FoRTd a8 31U+ IR &1 IA1d GIRI I HRI b |

4. ¥ GH G B & [AHRId By, oY 98 310 ORI 91 S &1 g-1d W64 HR qb |

Question Number : 199 Question Id : 7773932905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FIAITREd B Q SH-1 TMeg SHwTd &1 yaigard a1 82
Options :

1. % gedr

2. ¥ RAqdd

3. % 3

4. ® 3D

Question Number : 200 Question Id : 7773932906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIad T H Ygad Ve “3MeTRd Ud Wrvifae” & fAfeied & ¥ U HH-3 U &1 JanT foar 1 g2
Options :

1.V 3ATEED

2. % 3 T4 Rd

3. % Rawds®

4. % TH TR




